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The following table shows the proportion of students passed in three different Graduation Streams,
namely, Arts, Science and Commerce, from seven different cities A-G, alnng with the ratio of Males (M)
to Females (F) for the three streams among the students. Based on the data in the table, answer the

questions that follow.
City-wise details of Gradua Ijng students

Proportion of passed Students

City Arts : Science : Commerce Arts Science | Commerece

M:F M:F M:F
A 2545 Held | 232 b B
B 732:4 a3 | 43:32 29:21
< 1:4:2 2:16 | 57:43 31:29
D 5:7:4 17:13 | 51:33 23.:17
E 4338 2337 | 41:34 B7 2%
E o B 47 : 28 =7 16 : 11
G 3:5:4 29:21 | 27:24 53 : 47

Sub questions

Question Number : 1 Question Id : 5330723675 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of males who passed in Commerce from City-G is 2544, then what is the number of

students who passed m Arts from City-G ?

(1) 3600
() 4200
(3) 4800
(4) 3400

Question Number : 2 Question Id : 5330723676 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

For City-A, if the total number of males who passed in Arts is 2480, then what is the difference

between the number of students who passed in Commerce and that in Science 7

(1) 600
() 1000
(3) 1400
(4) 1800

Question Number : 3 Question Id : 5330723677 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of students who passed in Commerce from City-F is 3240, then the number of
% of the number of Science students who passed

students who passed from City-F s

from City-F.
1 75

@) 150
(3) 180
4) 225

Question Number : 4 Question Id : 5330723678 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

If the number of females who passed in Arts from City-C is 768, then the number of males who

% of the number of students who

passed in Commerce from City-C s appmxi_mately
passed from City-C.

(1) 14.76
() 18.24
() 27.8
4) 325

Question Number : S Question Id : 5330723679 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The number of males who passed in Commerce from City-F is approximately

than the number of females who passed in Commerce from City-F.

(1) 31.25
() 47.47
(3) 4545
4) 42.67

Question Id : 5330723674 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)
Question Label : Comprehension

e arferert # wra fus-fam well A-G § e, fagm @ anfusg &6t &9 Sraesa srarst § 3] fommfei o
aTaTe S fanfei 2 e o st &g gl (M) 1 Afeensti (F) % |re 1 ST <9 T E | e § wew

ZMeT o TR T 3 & T Y91 o S Sl

Fraena faenf = yree-ar faavor
3ot ferenfeft =1 sre-am faaem

TTE el : o - iy el fagm arfors
M:F M:F M:F

A 2:4:5 31:14 | 23:27 TL: 7
B 7:2:4 37:33 | 43:32 29:21
@ Tsdnd 34:16 | 57:43 31:29
D 5:7:4 17:13 | 51:33 23:17
E 4:3:8 23:17 | 41:34 57:23
F 2:4:3 47:98 | 11:7 16:11
G 3:5:4 29:21 | 27:24 53 : 47

Sub questions

Question Number : 1 Question Id : 5330723675 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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afg IER-G | afoRs § Sl TEEi 1 AT 2544 €, @ TRR-G ¥ e H 3ol frenfefai @ demn feat €2

(1) 3600
(2) 4200
(3) 4800
(4) 3400

Question Number : 2 Question Id : 5330723676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tet-A % foru, afe wen | I geel w6 e @A 2480 ¥, o anfosg ¥ il farnfefEi @i g i famm
T 3Ao] fomnfer it wem % o= w1 s R § 2

1) 600
(2) 1000
(3) 1400
4) 1800

Question Number : 3 Question Id : 5330723677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg we-F B aiforsg o Sl faenfeli o1 W@ 3240 ® 9 WERF ¥ 30 89 o foenfelEi w1 wwen

el-F 9 == faam faenfe=i =t 9 = % T
(1) 75

(2) 150

(3) 180

(4) 225

Question Number : 4 Question Id : 5330723678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ife IR-C I e § 3l B arelt wfeansii = e 768 §, @ We-C ¥ afosg § it el & g

Ie-C § Tl foenferai =i Tem &1 e % ® 1
(1) 14.76

(2) 18.24

(3) 27.8

(4) 325

Question Number : 5 Question Id : 5330723679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YELF § afvRea § Il qES skl HEH YEl-F | v H I e A wieensdi o Hen 9 anen

% HIfges 7
(1) 31.25
(2) 47.47
(3) 45.45
(4) 42.67
Sub-Section Number : 2
Sub-Section Id : 533072150

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 4/101



8/23/24, 9:45 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330723680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be correctly claimed in the light of * Assessment Rubrics’ ?
(A) A tool used to interpret and grade students on the basis of some criterion.

(B) A means to increase subjective evaluation by the evaluator.

(C) It ensures transparency and fairness in the marking process.

(D) It provides an opportunity to set orbitrary standards and guidelines for moderation.
(E) Itis an innovative evaluation system.

Choose the correct answer from the options given below :

(1) (A), (C), and (D) only

(2)  (A), (B) and (C) only

(3) (©), (D), and (E) only

(4) (A), (O, and (E) only

Question Number : 6 Question Id : 5330723680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" eferer By’ o weRw W frmfafaa § 9 e gren e s g €2

(A) ToFel TGS & SHR T BT Skl AT A SR 3% Aviteg F o forg 3 foran s arer S
(B) HeAIFHAl NI SHS Hedlidhd ag & fog |EH

(C) = 3w ufshan ¥ urefeiar ofix foeran gffeea s g

(D) o feore argfess AmeE =ik faenfrae wonfaa &3 % fou srame gem &t €|

(E) 98 Tk Far=rdl Hodish o @ |

= feu 7o fawedi § 9 9 3O 1 994 S

(1) e (A), (©) IR (D)

(2) = (A), (B) IR (O)
(3) = (Q), (D) ¥R (E)
(4) F=d (A), (O) ¥R (E)

Question Number : 7 Question Id : 5330723681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1

(Types of Teaching)
(A) Macro teaching (I)
(B) Micro teaching (1)
(C) Station teaching (III)
(D) Cooperative teaching (IV)

g28.digialm.com/CAE/viewHtmIPDFAction.action

List - 11

(Description)

A teaching technique especially used in teacher’s
pre-service education to train them systematically

An approach where the educators divide the content
among themselves and students sit with one educator

before moviﬂg to the other

A situation in a classroom where two teachers work on a
class together

When a teacher provides instruction to the entire class at
one time for an extended period of time

Choose the correct answer from the options given below :

(1) (A)-(0), (B)-(I11), (©)-(1), (D)-(V)
(2 (A)-(IV), (B)-(1D), (O)-(I1D), (D)-(I)
(3)  (A)-(IV), (B)(T), (C)-(IT), (D)~(III)
4 (AHD, (B)-(D), (C)-(Im), (D)-(IV)

Question Number : 7 Question Id : 5330723681 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

-1 9 -1 1 7 it
i et
( foreror & waTT) ( faar)
(A) =a9eR forem () Tt foeror qeberen foreert g fasre &9 9 fars 1 Ja1-yd fven o
fopam T & e S gemaftea w9 & wiwfer o = o |
() gaw ey () o U ggfa fomd foerer faoa qnft i e # foafe wen €
3R B, T e & 99 9 ¥ qd we e % 9w 9ed €
(©) T fasm (1) e H T fefa sl & foerr me-we wE e & Hau H w5
.
(D) GeF foneo (IV) Tel %id foneres faranfia erafy % foe ws wog ® Ol e & =l i
I |

= feu o famedi § ¥ W@ IO #1999 FifE

(1) (A1), (B)-(1D), (©)-(), (D)-(V)
(2) (A1), (B)-(1D), (O)-(D), (D)-()
@) (A)-(IV), (B)-(D), (C)-(II), (D)-(LD)
@) (A1), (B)(I), (O)-I), (D)-(IV)

Question Number : 8 Question Id : 5330723682 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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What among the following can be ascribed to learning styles ?
(A) Itis a way "how’ the student learns

(B) They are strengths and preferences of the learners for responding to the stimuli in the
environment

(C) Itis “What' the learner learns

(D) It is a behavioural pattern developed for any new learning
Choose the correct answer from the options given below :

(I) (A) and (B) only

(2) (A) and (C) only

(3) (A), (B), and (D) only

(4) (B), (O, and (D) only

Question Number : 8 Question Id : 5330723682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfefas & & for siferm el & fom e Seuen s 9 & 2

(A) 7@ Tornefl & dre &1 ue al

B) 3, ufEe # sEum W wfafw 39 % fern frenferi 6 wfamal o ad—and €
(C) =&, Teramefl g gel 78 = €|

(D) ¥ et 7o ifermy o fo faerfaa fman o smaer dasf 9= €1

= fou U foskedi # | W& IO A1 9 HIT

(1) I (A) 3R (B)

(2) EE (A) #HR(C)
(3) FEE (A), (B) R (D)
(4) EE (B), (C) 3N (D)

Question Number : 9 Question Id : 5330723683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be correctly inferred about the Traditional Teaching Method and Support System ?
(A) Teacher is responsible to control the class and teach with the usage of blackboard

(B) Itis also known as ‘Back-to Basics’ System.

(C) The student carries the responsibilities to use self-learning tools.

(D) Virtual labs are used as one of the Teaching tools.

(E) Charts, Maps and Textbooks are the prime resources and handouts are used by the teacher
Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A), (B) and (D) only

(3) (D) and (E) only

(4)  (A), (B) and (E) only

Question Number : 9 Question Id : 5330723683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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woRrTe et wgfa o e yonel & 9 ¥ frefafes § O 6 @t @ 4 srafaa fen s g €2
(A) Toemr, e 1 Faifaa T3 qon AFarS # WHTe FX 9 * fou STert 2T € |

(B) U 'Sk 2 Sfed’ Worel % w9 § off S = €

(C) Ta-forerm I9eRTal 1 WA 3 1 Foeierd Bl =i Al &

(D) SR FARTIEnsii (agetal o1e8 ) o1 YA U e Sustr % w9 | foman s 2

(B) =, HHfEH SR TSI s THE SHMA 2id © SR ferer gr1 deaise o1 yan frar s €

= feu T foredi # § W& IO H 99 BN ;

(1) ¥ (B) 31 (C)

(2) F=@ (A), (B) R (D)
(3) %= (D) 3R (E)
(4) Ed (A), (B) iR (E)

Question Number : 10 Question Id : 5330723684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following is incorrect about SWAY AM Prabha ?

(1) It was launched by Sri Abul Kalam Azad.

(2) Satellite is used for telecasting the educational contents through DTH channels.

(3) The web portal of SWAYAM Prabha is maintained by INFLIBNET, Gujarat.

(4) The contents for SWAYAM Prabha are provided by NPTEL, IITs, UGC, CEC and IGNOU.

Question Number : 10 Question Id : 5330723684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Tgm ' & R § fAfafaa wE- wUE e €7

(1) S5 YT A ST A 3T - &l of |

(2) EITE. Tl & AeEn | e ugm g & yere & fau Seere @ owE fe s €

(3) ‘TEEH UM’ % A9 Ured 1 ST S7E. UA, U, UE. 31, §1.UA.E. 21, Ted §R fohan ST ©

(4) ‘T=EH 99’ 1 Ueg 9, WA E U, SR eE A, AL, g E. sl 3 g1 3w
AR ST T |

Question Number : 11 Question Id : 5330723685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A researcher decides to tell participants something false about a research session in order to mislead
them. The researcher is using :

(1) Naturalistic observation
(2) Role playing

(3) Active deception

(4) Dehoaxing

Question Number : 11 Question Id : 5330723685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T ViR FfafTE S TE A o Seyd ¥ S U WM U F Gad § F9 S0 Siod © | 9 YR
fra & 9 frga TAm R w1 87
(1) TErHIfaes e

(2) yfo feea
(3) HfEg v
(4) B9 3T (ErRifEET)

Question Number : 12 Question Id : 5330723686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following criteria in research relates mainly to the issue of causality ?
(1) Transferability

(2) Measurement validity

(3) External validity

(4) Internal validity

Question Number : 12 Question Id : 5330723686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oy # ¥ B G SRl e SR & foug § gefia ® 2

(1)  sfarfiaa
(2) A A
(3) @@l A

(4) ofiafter e

Question Number : 13 Question Id : 5330723687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the data sets with following pairs of mean ( y ) and standard derivation (o) in increasing
order of their coefficient of variation.

(A) 7=80=17

(B)
(C) =15 0=36

=11, o0=2.2

= |

(D) x=16,0=3
Choose the correct answer from the options given below :

1 (A) (B). (D), (©

2 (B, (D). ©), (A)
(3)  (©. (B) (D), (A)
@) O (B), A) ©)

Question Number : 13 Question Id : 5330723687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el "3l oF WA (y) d HEE fo=ed (o) 9t 9 gl o Sk formron oieR oF ded W W sereed

Fifer

(A) 7 =8 o=17

B) 7=11,0=22

Q) x=150=36

(D) x=16,0=3

= feu U foeredi # 9 W& SO #1994 FI9C
(1) (A) (B). (D), ()

2 @), (D), Q. (A

)
B)  (©), (B), (D), (A)
4) (D) (B), (A) (©

Question Number : 14 Question Id : 5330723688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC regulations 2018 on plagiarism, which of the following similarities constitute

Level - 1 plagiarism ?

(A) 12%
(B) 42%
(C) 28%
(D) 56%
(B) 37%

Choose the most appropriate answer from the options given below :
(1) (A). (B) and (C) only
(@) (B), (O and (D) only
()  (A) (©) and (E) only
4)  (B), (C) and (E) only

Question Number : 14 Question Id : 5330723688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tifefere 91 & Ty | 7505, fafmg 2018 % omEr fra § 9 Fm-Fm O T =1 -1 #51 gifefee
= Bl § 2

(A) 12%
(B) 42%
(C) 28%
(D) 56%
() 37%

A9 feu T forkedl o ¥ HEH UgeR I H T HfOT ;
(1) == (A), (B) R (O)

(2) %= (B), () 3R (D)
(3) =€ (A), (C) #HR (E)
(4) = (B), (C) 3R (B)

Question Number : 15 Question Id : 5330723689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Satisfaction level
(B) Ordinal (II)  Weight
(C) Interval (ITI) Ethnicity
(D) Ratio (IV) Year of death

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II), (O)~(11), (D)-(IV)

2 (A)-(), (B)-(IIT), (OF(ID), (D)-(IV)
(3)  (A)-(), (B)-(IV), (O-(1D), (D)-(1)
() (A)-I), (B, (O-(1V), (D)-(I)

Question Number : 15 Question Id : 5330723689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11

(= &1 WY ) ( 3<TEYT )
(A) TR (1) HIe =R/
(B) THHHAF () R
(C) awafy (II1)  FSTreirean
(D) 3T (V) T 1

= fou e fosredl § 9 W& SO F 9949 Ffe
(1) (A1), (B)-(II), (C)-(I1), (D)-(IV)
(2)  (A)-(D), (B)-(IT), (C)-(IT), (D)-(IV)
(3)  (A)-(IL), (B)-IV), (O)(1L), (D)-(D)
(4)  (A)-(1I), (B)-(I), (C(1V), (D)-(IT)

Question Number : 16 Question Id : 5330723690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is the first newspaper published in India in modern times ?

(1) Hickey’'s Bengal Gazzette

(2) India Gazette

(3) Samvad Kaumudi

(4) Udant Martand

Question Number : 16 Question Id : 5330723690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gRa § e Fa o JeRed Yo THER 9 -9 © ?
(1) Terg e T

(2) sfem e
(3) TaE H
(4) I AEUS

Question Number : 17 Question Id : 5330723691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can not be treated as the folk tradition of communication in India ?
(1) Cinema

(2) Jatra

(3) Ramleela

(4) Kumbh Mela

Question Number : 17 Question Id : 5330723691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Rt v o H9R S T WO TRl HET ST e § 7

(1) fem
(2) ==

(3)  Tere
4) FuHe

Question Number : 18 Question Id : 5330723692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the ‘5 Ws' of communication in proper sequence :

(A) Why
(B) When
(C) What
(D) Who
(E) Where

Choose the correct answer from the options given below :

(1) (©) (D) (E), (B) and (A)

(2)  (E), (D) (B), (C) and (A)
(3)  (A), (B), (©), (D) and (E)
4)  (B), (A), (©), (D) and (E)

Question Number : 18 Question Id : 5330723692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HER % ‘5 W (5 %') ki 3fem sgepm W fofad .
(A) Why ()

(B) When (hd)

(C) What ()

(D) Who (&)

(E) Where (&)

= fou mu forpedi # | W& I I A HI
(1) (©), D), (B), (B) 3 (A)

) (B), (D), (B), (C) S (A)
(3) (A), (B), (C), (D) 3R (E)
4) (B), (A), (C), (D) ¥R (B)

Question Number : 19 Question Id : 5330723693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Three major actions in the process of Communication are :
(A) Receiving

(B) Sending

(C) Reviewing

(D) Interpreting

(E) Analysing

Choose the correct answer from the options given below :
(1) (C), (D) and (E) only

(2) (A), (©) and (D) only

(3) (A), (B) and (D) only

4) (A), (D) and (E) only

Question Number : 19 Question Id : 5330723693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Wi f 9 g e
(A) 9 R

(B) Wfud T

(C)  Trfteqm =TT (TALHETOT ShEAT)
(D) = Al

(E) fowemor s

= feu o fomedl ® € W& SO o 999 FIe
(1) = (O), (D) ¥R (E)

(2) FaE (A), (O) 3R (D)

(3) = (A), (B) ¥R (D)

(4) eI (A), (D) SR (E)

Question Number : 20 Question Id : 5330723694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I

(Applications) (Communication term)
(A) Interviews ()  Group Communication
(B) Newspaper ()  Intrapersonal Communication
(C) Classroom (III)  Interpersonal Communication
(D) Meditation (IV) Mass Communication

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-IV), (O)-(1), (D)-(1)
(3)  (A)-(IV), (B)-(1), (C)-(I), (D)~(I1)
4)  (A)-(I), (B)(IV), (OD), (D)1
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Question Number : 20 Question Id : 5330723694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teit-1 9 -1 =1 fies i
Teil-1 Tet-11

( 3 UET) ( HeET ¥ watia yreg )
(A) HIETERR () wmfew TER
(B) THMER 93 (II) &F;aafE Gar
(C) =Ral (IlI) SFaaafwes G
(D) =M (AfeyH) (IV) 4 H=R

= fou e fosredl § 9 W& SO F 9949 Ffe
(1) (A)-(), (B)y-(II), (C)(1), (D)-(IV)

(2) (A, (B)-(1V), (O)-(I1), (D)-()
(3)  (A)-(IV), (B)-(D), (©)-(I), (D)-(ID)
(4) (A, (B)-(1V), (O)-(1), (D)1

Question Number : 21 Question Id : 5330723695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person sold an item at a loss of 7%. Had he sold the item at a gain of 7.5%, he would have
received Rs. 87 more than his selling price. The cost price of the item is :

(1) Rs. 500
(2) Rs. 550
(3) Rs. 600
(4) Rs. 650

Question Number : 21 Question Id : 5330723695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A 7% 1 B U Uk % o=l | 3R 8 7.5% oF 1 WY 39 o o o= ol kg ged | % 87
Sfereh 9w BT | ST o1 T e ©

(1) %500
(2) %550
(3) ¥ 600
4) ¥ 650

Question Number : 22 Question Id : 5330723696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a race of 500 m run, A beats B by 20 m and C by 80 m. [f B and C are running another race of
100 m with exactly same speed as before, then by how many meters will B beat C ?

(1) 100 m

(2) 85m
() 150 m
4) 125 m
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Question Number : 22 Question Id : 5330723696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

500 | 1 <7 H, A, BRI 20 H 31k C i 80 7. | &an 1 AfE B 31R C 100 . *1 <1, 34t 7fq § <t
€ o BT X @ CF e ©2

(1)  10.0 Hi.
(2) 85 .
(3) 15.0 .
(4) 125

Question Number : 23 Question Id : 5330723697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fractions in increasing order :

12
(A 17
13
B) 719
8
© 17
16
D) 5

Choose the correct answer from the options given below :
() (B), (D), (A), (©)
(2 (B), (A) (), (D)
(3) (D), (A) (B), (O)
(4 D) (B), ©),(A)

Question Number : 23 Question Id : 5330723697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feAferiad ol =1 TR o0 H Hefeed i |

12
A
13
B 3
8
e =
16
D) o

e feu o fasedi § 9 O IO F =999 Fif9
(1) (B). (D) (A), (O

(2)  (B). (A), (©), (D)
(3) (D). (A), (B), (O)
4) (D). (B), () (A)

Question Number : 24 Question Id : 5330723698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the series 1, 7, 17, 31, 49, ............

(A) 74
(B) 95
(C) 97
(D) 127
() 161

Choose the correct answer from the options given below :
(1) (A), (B), (C) only
(2) (©), (D), (E) only
(3) (E), (B), (A) only
4) (C), (D), (B) only

Question Number : 24 Question Id : 5330723698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@M1, 7, 17, 31, 49, ... H 3 Frell A T gedr i |
(A) 74

(B) 95

(C) 97

(D) 127

(E) 161

) faw Tu faeredi § § Wl SR @ = FifC -
(1) = (A), (B), (O

(2) e (C), (D), (E)

(3) I (E), (B), (A)

(4) = (C), (D), (B)

Question Number : 25 Question Id : 5330723699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Word) (Unique Code)
(A) QUAKE (D KTFUL
(B) OFTEN () VHQDU
<y PEACH (o) TEYou
(D) DRIVE (Iv) JUYWR

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (C)-(L), (D)-(IV)
(2) (A1), (B)-(IV), (O)-(1D), (D)-(1)
(3)  (A)-(II), (B)-(L), (C)(IV), (D)-(I)
(4)  (A)(IV), (B)-(1I), (O)-(I), (D)-(IM)

Question Number : 25 Question Id : 5330723699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i
Geid e
(wrsg) ( afgdra <)
(A) QUAKE () KTFUL
(B) OFTEN () VHQDU
(C) PEACH () IEYOU
(D) DRIVE (IV) JUYWR

== feu U foredi ® | A& SO o 999 HI
(1) (A)-(D), (B)y(I), (C)(II), (D)-(IV)
(2)  (A)-(1D), (B)-(1V), (O)-(1LL), (D)-(I)
(3)  (A)-(1m), (B)-(I), (C)-(IV), (D)~(IL)
(4)  (A)-(1V), (B)~(ID), (O)-(L), (D)-(I1L)
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Question Number : 26 Question Id : 5330723700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the pattern of the Argument in the following “Habits are like a cable. We weave a strand
of it everyday and soon it cannot be broken.”

(1) Causal Argument

2) Argument from Analogy
3)  Argument from Authority
4)  Argument from Definition

— — p—

Question Number : 26 Question Id : 5330723700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa  gfaa F Yo 1 veam w1 ' o1ed Foe & GOE Bl €1 g9 ufafed s8e o 974 € ST sy
IS drer TS o ek
(1) U P

(2) HrgvEdal 9§ gfed
(3) WIfeEpR | gfaa
(4) 9T | gl

Question Number : 27 Question Id : 5330723701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What in the following can be cnrrectly mferred ? “You know how [ know animals have souls ?
Because on an average, the lowest animal is a lot nicer and kinder than most of the human beings
that inhabit this Earth”.

(A) Premise : The lowest animal is a lot nicer and kinder than most human beings that inhabit
this Earth.

(B) Premise : Animals have soul

(C) Itis not an argument

(D) Conclusion : The lowest animal is a lot nicer and kinder than most human beings that inhabit
this Earth

(E) Conclusion : Animals have soul

Choose the correct answer from the options given below :

(1) (B), (C) and (D) only

(2)  (A), (C) and (E) only

(3) (A) and (E) only

(4) (A), (D) and (E) only

Question Number : 27 Question Id : 5330723701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfefaa | fofg o o1 STaM TR S Hehat €7 1 ST 99 € T 49 R 39 9 &1 9N § T
apel H smeArd St € 7 aifeR sieed fean oy 2| g W e awt sifereat sl a6 qer § e
3151 3R T wrn g1

(A) =NUR 9 : feam oY) 30 gt W TEd 9ot A TS i qe § SR S5 3R g4 B

<l
(B)  SMERETE : g # e At ¥ |
(C) T U I T2

(D) frerd : fretam 9], 38 9ol W e 9l Sifrehat Igsal SRt o § Rl 3T i SATe BN €
(E) frewd : qgedl # omem 2 B

A= fou U fompedl § | W& SO & 959 FIE

(1) = (B), (O) ¥R (D)

(2) = (A), (O) 3R (E)
(3) A (A) 3R (E)
(4) = (A), (D) ¥R (E)

Question Number : 28 Question Id : 5330723702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred correctly from the following ? “No musicians are Greeks. All traders are
Musicians. Therefore, no traders are Greeks”

(A) It represents figure Il of the syllogistic argument

(B) Itisan EAE mood

(C) The term 'Greeks’ is the major term

(D) The minor term of the conclusion is distributed

(E) The middle term is undistributed

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(@) (B), (O and (D) only

(3) (D) and (E) only

(4) (A), (C) and (E) only

Question Number : 28 Question Id : 5330723702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ffefaa # forg ma o1 Stk STTH T S T © 7 ¢RI SRR A e ¢ | T SR §iaer
g1 zofae & off =t g = T
(A) ¥ =rFerRE gfad #1 ofd 1 1 ufaftue e €
(B) ¥ EUE. (EAE) fo=mg ¥
(C) O ‘g’ | 9% B
(D) fAe=rd =1 =9 U8 =14 €|
(E) W g 37T T |
= feu o foaswedl | | W& S N FIH HIT
(1) = (A), (B) 3R ()
(2) =4 (B), (O) 3R (D)
(3) = (D) ¥R (E)
(4) I (A), (O) FR(E)

)
)

Question Number : 29 Question Id : 5330723703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Forms of Non-existence) (Representation)
(A) Anyonyabhava (I)  Hare's horn
(B) Atyantabhava (II)  there is non-existence of the jar now
(C) Pragabhava (I) This is not that
(D) Pradhvamsabhava (IV) Temporary absence of a thing

Choose the correct answer from the options given below :

(D) (A1, (B)-(IV), (C)-(I), (D))

2 (A1), (B)-(I), (O(I), (D)-(V)
(3) (A, (B)~(D), (C)-(IV), (D)-(IN)
@) (AHIV), (B)(ID), (O)-(), (D))

Question Number : 29 Question Id : 5330723703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
5 Tei-11

( e e & & @' ) ( FremuT)
(A) IT=E=YE (I) BALHT &M (ETIA F Gi)
(B) THAINE (1) 378 §R & sifeqe 72 §
(C) WFTYHE (I ‘Teae & &’
(D) WeEEIE (1v) ot =g o1 STt IR 9% A B

= fou e fosredl § 9 W& SO F 9949 Ffe
(1) (A)-(1D), (B)-(IV), (O)-(1), (D)-(I1I)
(2)  (A)-(D), (B)-(II), (C)-(IT), (D)-(IV)
(3) (A)-(), (B)-(I), (O-(1V), (D)-(IT)
(4)  (A)-(1V), (B)~(1D), (O)-(1), (D)-(I1L)

Question Number : 30 Question Id : 5330723704 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Among the following which is correct in the context of Sabda Pramana ?

(1) For Samkhya, a word signifies universal

(2) For, Jainas, a word signifies a particular

(3) Forold Nyﬁya, a word symbn]jzes universal cmly

(4) For Vedantins, a word primarily means the class character of individuals

Question Number : 30 Question Id : 5330723704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wieg gar9 % geof § frefored § 4 0 wEd €2
(1) Eiea ¥ foad v g %1 GEF ¢ |

(2) S 3¥H F ford wes fasiy =61 4= €
(3) YU =M % 9 v W SY SRE €
(4) Sl & ol weg o g a1 fag & sfa-or | 21

Question Number : 31 Question Id : 5330723705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L)), represents a number L in base-M number system, then what will be the value ot

(107),, + (257),¢ ?
(1)  (762)y

() (862)y,
(3)  (962)4,
(4)  (662)19

Question Number : 31 Question Id : 5330723705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e SH-M 2 FOell # (L)y, §&A L 8 90 €, A (107),4 + (257) 1, 1 HH 41 200 7
(1) (762)y

(2)  (862)y
(3)  (962)y9
(4) (662)59

Question Number : 32 Question Id : 5330723706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computer ne twnrki_ng, an IP version-6 is times 1a1'ger than an [P version-4 address.
1y 2
(2] 4
(3) 6
(4) 8

Question Number : 32 Question Id : 5330723706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

F AzafhT H o d. Fs4 TH H gerT H o d. asfe T T A T
P 2
2 4
(3) 6
4) 8

Question Number : 33 Question Id : 5330723707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following major technological changes A-D in the development of
computers based on first to fourth generation of computers :
(A) Transistors

(B) Microprocessor

(C) Vacuum tubes

(D) Integrated circuits

Choose the correct answer from the options given below :
1) (A), ©, (D), (B)

2  ®), (A),(©) (D)

(3) D) (A) (©) (B)

) (©. (A) (D) (B)

Question Number : 33 Question Id : 5330723707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FOIU I U WGl ¥ el Wl F R W Fg F fawm § fm wym wehfrewr gitec i A-D % wWEé

FH F1 eI HIfe
(A) zfe=R
(B) TRSHIIEET

(C) el (Seppm) 27

(D) wHIFa Hihe

T fou 7o fepredi § 9 W@ SO #1994 Ff
1) (A), (©), (D), (B)

2 (B, (A), (O, (D

) )
3) @) (A) (O (B)
@) (©), (A), (D) (B)

Question Number : 34 Question Id : 5330723708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To record voice narration for your Microsoft PowerPoint presentation, your computer must have :
(A) Sound card

(B) An internet connection

(C) Speakers

(D) An external video port

(E) Microphone

Choose the correct answer from the options given below :
(1) (A), (C) and (E) only

(2) (B) and (D) only

(3) (A) and (E) only

(4) (B, (C) and (D) only

Question Number : 34 Question Id : 5330723708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3R] AISHhIGTR TER @2 Wegfd & foru @ gaid #1 e #9 & fog 319 F ¥ F 59vd eA
e
(A) =f[ (ERE) FE

(B) 3ITAC FHARWH
(C) ofrd

(D) U amel EifeEl aie
(E) HEHEA

e feu 7o fosredi § ¥ W SO F 9949 Fif9 ;
(1) = (A), (C) 3R (B)

(2) a9 (B) ¥R (D)

(3) = (A) 3R (E)

(4) e (B), (C) ¥R (D)

)
)

Question Number : 35 Question Id : 5330723709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Internet Term) (Description)
(A) Blogs ()  Allows users to create and edit web pages using a browser
(B) Podcasts (I) A type of bookmarking where a user “marks” a webpage
or photo using text to describe its contents
(€C) Tagging (III) A series of digital media files
(D) Wikis (IV) Personal internet journals

Choose the correct answer from the options given below :

1) (A)-), (B)-(D), (O-(), (D)-(IV)

(2) (A, (B)1V), (O)-(1), (D)-[1)
(3)  (A)-(IV), (B)(II), (C)-(ID), (D)-(I)
4) (A1), (B)-(11), (©)-1V), (D)-(1)

Question Number : 35 Question Id : 5330723709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
i1
(fee ug)

(A) =am 0
(B) drewTE (IT)
() =fm (I11)
(D) fo=rat (V)
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eI

( faawor)

ST I SO o YA § & USi Rl oA O 3R HUed e el
Bl

e Yeh o1 Gieh fored Toras g aa Us S3ee wiel sl Sideg]
1 99 A o fore Taee @1 v e 3 ¢ fafea e B
fefsrea wifean weai =i sf@en

JAfeRTF 32T FHA

= feu 7o fawedi W 9 9 3O 1 994 S
(1) (A)I), (B)-(I1), (O)~(1L), (D)-(IV)

@

(4

) (A, (B)-(1V), (O)-(1D), (D)-()
(3)  (A)-IV), (B)(II), (O)(1D), (D)-(D)
) (A1), (B)-11D), (©)-(IV), (D)-()

Question Number : 36 Question Id : 5330723710 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The amount of biomass produced by the plants through photosynthesis minus respiration losses in

a given time period is known as :
(1) Gross Primary Productivity
(2) Net Primary Productivity

(4) Net Secondary Productivity

)
(3)  Gross Ecological Productivity
)

Question Number : 36 Question Id : 5330723710 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

T GRT Wed THY H YR ST GRT SeTE S W H ¥ Y90 SR gt afd er M Iw w A A g

1 e ST ?

(1) Hehel WafHes Seaeeral
(2) 12 MUl Sereedl

(3) HeRel TRERrfceR Scargehdl
(4) e fgdfrs Scareehan

Question Number : 37 Question Id : 5330723711 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which among the following fuels produces least amount of soot particles during combustion ?

(1) Petrol

(2) Kerosene

(3) Diesel

(4) Compressed Natural Gas (CNG)

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

26/101



8/23/24, 9:45 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 37 Question Id : 5330723711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & | 9 W e T2 % SRE A O § FesTd U Sode Il © 7

1) e

2 =@

(¢) <o

(4) wdifea grfas T (dFwAst)

Question Number : 38 Question Id : 5330723712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following states in ascending order according to their area under forest cover :
(A) Arunachal Pradesh

(B) Chhattisgarh

(C) Maharastra

(D) Odisha

(E) Madhya Pradesh

Choose the correct answer from the options given below :
(1) (A), (©), D), (B), (E)

@ (©, (D), (B), (A) (B)

(3 (B), (A), ©), E), (D)

4 (D) (B), (A), (E) (O)

Question Number : 38 Question Id : 5330723712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

11 U=t 3R aTesIiad &7 o6 STRIS! W W SHared hifeld ;
(A) TEUTEA T2

(B) BrETE
(C) e
(D) ffeam
(E) A Wl

9 feu o fomedl § 9 W& SO & 9949 Fife
(1) (A), (C), (D), (B), (E)
(2) (Q), (D), (B), (A). (E)
(3) (B), (A), (O, (B), (D)
(4) (D), (B), (A), (E), (C)

Question Number : 39 Question Id : 5330723713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Eye irritation is the common phenomenon during smog. It is mostly caused by :
(A) Formaldehyde

(B) Per-oxy acetyl Nitrate

(C) Ozone

(D) Acrolin

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (O, (D) and (A) only

(4) (B, (C) and (D) only

Question Number : 39 Question Id : 5330723713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl o SN STEl H Wi | Ui €1 sTfuehat g 1 3 SR 2 €

(A) WHTSRRS
(B) T UfHeEd AEee
(C) ==

(D) TshreiA
= feu u foeredi W | W@ ST & 99T HiT
(1) F (A), (B) #R(Q)

(2) = (A), (B) R (D)
(3) @& (C), (D) & (A)
(4) = (B), (C) 3 (D)

Question Number : 40 Question Id : 5330723714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(International Treaties) (Key Objectives)
(A) Sendai Framework ()  Equality between men and women
(B) Monterry Concensus (II)  Our common future
(€) Beijing Declaration (IIT) Disaster Risk Reduction
(D) Brundtland Report (IV) Financing for development

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (C)-(1), (D)-(1I)

(2 (A)-(IV), (B)(D), (C)-(I), (D)~(IM)
(3)  (A)-(), (B)-(ID), (O)-(IL), (D)-(IV)
4) (A1), (B)-(1), (©)-1V), (D)-(I)

Question Number : 40 Question Id : 5330723714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i

Teil-1 -1

( Sferiedra wfera) (T )
(A) TSR HHaH () gEui g fedl & o= garEa
(B) Wl Henfd (II) BRI |E i
(C) st oo (III)  =TT9eT SfEy stediemo
(D) dwEcie U (1v) o 7q fasfima

= fou e fosredl § 9 W& SO F 9949 Ffe
(1)  (A)-(1m), (B)-(IV), (C)(I), (D)-(IT)
(2)  (A)AIV), (B)~(D), (C)-(IT), (D)~(1ID)
(3)  (A)-(), (B)y(L), (O)-(IL), (D)-(IV)
(4)  (A)-(1D), (B)-(11L), (C)-(1V), (D)-(I)

Question Number : 41 Question Id : 5330723715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following ancient Indian Institutes from East to West direction.
(A) Takshashila

(B) Nalanda

(C) Vikramshila

(D) Shardapeeth

Choose the correct answer from the options given below :

(1) (A), (D), (Q), (B)

(2) (B), (O, (A) (D)

(3) (D) (A), (B), (O

4 (©), (B) (D), (A)

Question Number : 41 Question Id : 5330723715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafed arEm yRdE 9w & @& 8 ufvem fom 6 w8 ° s
(A) aetfre

(B) rer=T

(C) fersmruferen

(D) TETYE

= feu mu fosredi ¥ 9 W& AT F =9 I

(1) (A), D) (O (B)
2 (®) Q) (A) (D)
@) @) (A) (B), (©)
@) (©), (B) (D), (A)

Question Number : 42 Question Id : 5330723716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 29/101



8/23/24, 9:45 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which of the following universities were set up in 1916 ?
(A) Osmania University

(B) S.N.D.T Women’'s University

(C) Mysore University

(D) Patma University

(E) Benaras Hindu University

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

() (B), (O) and (E) only

() (B, (C) and (D) only

4) (A), (D) and (E) only

Question Number : 42 Question Id : 5330723716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafiaa for forvafommerai =T T o4 1916 H &1 T ot ?
(A) SEEA fervafea=me™

(B) UWH.UA.ELZ. wfgen favafamey

(C) T favafammem

(D) Y favafea=mE

(E) =¥ feg favafamme

1 feu o foredi § | W& SO & 99 HIT

(1) e (A), (B) #R (C)

(2) @& (B), (C) &R (E)
(3) % (B), (C) 3 (D)
(4) = (A), (D) ¥R (E)

Question Number : 43 Question Id : 5330723717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(Constitutional Provision of Education) (Article)
(A) Women’'s Education (y 28
(B) Education of Minorities (I) 21-A
(C) Secular Education (II1) 15 (Part-II)
(D) Right to Education (IV) 29 (Part-III)

Choose the correct answer from the options given below :

(1) (A, B)I), (O-(1V), (D)-(1)

2 (A1) (B}, (O-IV), (D))
(3)  (A)-(), (B)-(IV), (O-(1), (D)-(ID)
@) (AHD, (BR(IV), (C)-(1), (D))
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Question Number : 43 Question Id : 5330723717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teit-1 9 -1 =1 fies i
i1 -1

( forem washt ddenfra-urasm) (AT=T)
(A) Hfeen-Twe (n 28
(B) STeuEwEHl i fored (I 21-A
(C) wH fAeus fren (II) 15 (MF-II)
(D) Terem =h1 sAfeRR (IV) 29 (9F-I1I)

= fou e fosredl § 9 W& SO F 9949 Ffe
(1) (A)-(1m), (B)-I), (O(IV), (D)(IT)

(20 (AHD, (By-(I), (O)-(1V), (D))
(3)  (A)-(I), (B)-(IV), (OHD), (D)-(ID)
@) (AL, (B(IV), (C)-(IT), (D))

Question Number : 44 Question Id : 5330723718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is known as “One Nation One Student D" card ?
(1) Aadhar card
(2) Pan card

)
(3) APAAR card
(4) Voter's ID card

Question Number : 44 Question Id : 5330723718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafag o 9 fF8 w291, UF B9 SRS RIS o ®Y H SHET I € ?

(1) e HE
(2) T HE
(3

)
) SR (THHeR) #E
)

(4) ORI TEEH U5 HS

Question Number : 45 Question Id : 5330723719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to National Credit Framework (NCrF) the credit level earned after Doctoral degree
(Ph.D.) will be :

Q 7
2 8
3 9
@) 10

Question Number : 45 Question Id : 5330723719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T hiee ®Y @ (T.H.3UTE. ) & STIER SR Iy (f.09.21.) % 9v9m i - e shfge
oae (TR) B

() 7

(2) 8

3 9

(4) 10
Sub-Section Number : 3
Sub-Section Id : 533072151
Question Shuffling Allowed : No

Question Id : 5330723720 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions that follow :

Odisha has colourful fairs and festivals and are as numerous as the days of the year. The sacred
journey of Lord Jagannath with brother Balabhadra and sister Subhadra from the Jagannath Temple to
the divine shrine called the Gundicha Temple is known as the Car Festival or the Rath Yatra. On this
occasion, the deities adorn three chariots named Nand_igosha, Taladhwaja and Darpadala_na respec I:ively.
They stay in the divine shrine for nine days and then return to the Jagannath Temple. This journey is
called Bahuda Jatra. This grand festival of Odisha is visited by lakhs of devotees from India and abroad
who pull the sacred chariots from the Jagannath Temple to the Gundicha Temple and back on a broad
road called Badadanda. The festival begins from the second day of Shukla Paksha (bright half) in the
month of Ashadha (June-July) every year. This festival of Lord Jagannath, who is worshipped as the
Lord of the Universe, is celebrated not only in Puri, but also in many other places in India and abroad.

Sub questions

Question Number : 46 Question Id : 5330723721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Whereas the festival of Lord Jagannath is celebrated in many places in India and abroad, it is
primarily associated with which city ?

(1) Bhuvaneswar

(2) Puri
(3) Cuttack
(4) Konark

Question Number : 47 Question Id : 5330723722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the names of the deities who accompany Lord Jagannath in the Rath Yatra ?
(1) Subhadra and Balabhadra

(2) Balabhadra and Shiva

(3) Subhadra and Hidimba

(4) Balabhadra and Hidimba

Question Number : 48 Question Id : 5330723723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The sacred journey of Lord Jagannath is traditionally undertaken onward to which divine shrine ?

(I) Jagannath Temple
(2) Subhadra Temple
(3) Balabhadra Temple
(4) Gundicha Temple

Question Number : 49 Question Id : 5330723724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Car Festival is conducted on a broad road that is called
(1) Darpadalana

(2) Ashadha

(3) Badadanda

(4) Taladhwaja

Question Number : 50 Question Id : 5330723725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the name assigned to the journey wherein the deities return to the Jagannath Temple after

nine days ?
(1) Rath Yatra
(2) Wapsi Yatra

)
(3) Maha Yatra
) Bahuda Jatra

Question Id : 5330723720 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension

Foretferfia TrerfT & ufaw i R T wvET & T SR

siifeem # Tfadd 45 o) wier 21 € oI 3 9d # o1 fog mam i € 1 e 99 9% 3R 9 guEr % Wy
SFTEM S S ufers amn sy Hie ¥ feen wfe, e wier a6 st & o o wéiewa @ 1 = % g Ao
S S B 1 3H SIE WY Idl-gaa shHeL: oA 1ei-drey, 9 s, giger W favemE e € 1 3 A fem aw
feen wifer # famg #ed € ofR 305 @18 aro" srene Hiex o1 €1 39 9 o agel 9 e S § | sifewn & 5
T 3cqa H 9Rd 3R oo | orel wa ar oid § S foraner = ari {5 aesa we S €, 9 gfes @ w6
ST Wit @ e i o iR AT w5 A wien €1 7 @ien gfe e 0 (SA-9erd) § 9 e
& UL 7 ¥ IR B 1 WM SRy, TSR $eHie o Helkd o €9 H YsH foRa1 S €, %1 ieR Fee i

& Tl 7 o ® afes wra ve faew & o T o o HAmEn S €

Sub questions

Question Number : 46 Question Id : 5330723721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T A SR 1 SRR YR R fERw F #5E wEl | WA 9 €, 9% wafns 9 9 5w TR g
Heifed €2

@
(3) hHh
(4) IR

Question Number : 47 Question Id : 5330723722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T AT H WIS SR R W1e e Y feRTSHI S <adT o W o § 2

(1) g1 R TAHg
(2) waYs & e
(3) gyl iR fefewn
(4) =R iR feferan

Question Number : 48 Question Id : 5330723723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIS STENY SR gferst 4T e w9 4 fory fesg wfer 9% Sl € 2

(1) STy HigT
(2) gzl HigT

(3) WV HfeX
(4) Tfe=n AfeY

Question Number : 49 Question Id : 5330723724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y WEIeTd U faemet Uy W anitee fEar st # for e s g 2

(1) TdgeH
(2) &R
(3) &S
(4) TS

Question Number : 50 Question Id : 5330723725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 1 f27 & 9. Sefi-2ea araE Sy wiE e ¥ 39 A6 M 2

(1) ™I
(2) aTaE 9
(3) HETAE
(4) SRS
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Question Number : 51 Question Id : 5330723726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the Grammar :

S—> A
A — 5BS|id
B—oB A|A
If I,=CLOSURE ({[S — .A]}) then, how many items be in the set for GOTO(I,, $)
(1) 3
2) 4
@) 5
(4) 6

Question Number : 51 Question Id : 5330723726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the Grammar :

S— A
A — 5B5|id
B—=B A|A
If I,=CLOSURE ({[S — .A]}) then, how many items be in the set for GOTO(I, $)
(1) 3
(2) 4
3) 5
4) 6

Question Number : 52 Question Id : 5330723727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the Grammar :
T — Qx
Q—-RS
R-oyle
S—=z|e
Here x, y, z are terminals and T, Q, R, S are non terminals.
What will be the follow set of the non terminal R ?

N vyl
@ vz
) =z x|
4) (el

Question Number : 52 Question Id : 5330723727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the Grammar :

T — Qx

Q—= RS

Royle

S—z|e

Here x, y, z are terminals and T, Q, R, S are non terminals.
What will be the follow set of the non terminal R ?

M vyl
2y =z
@)z xl
) fel

Question Number : 53 Question Id : 5330723728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If L; and L, are context free languages, which of the following is True about L,;nL, ?
(1) L;nL,is context free

(2) L;nL,is Regular

(3) LynL,is Recursively Enumerable

(4) L;nL, is Context Sensitive

Question Number : 53 Question Id : 5330723728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If L; and L, are context free languages, which of the following is True about L,;nL, ?
(1) L;nL,is context free

(2) L;nL,is Regular

(3) LynL,is Recursively Enumerable

(4) L;nL,is Context Sensitive

Question Number : 54 Question Id : 5330723729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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is a Self Balancing binary search tree, where the path from the root to the furthest leaf
1s no more than twice as li:mg as the path from the root to nearest leaf.

(I) Expression tree
(2) Game tree

(3) Red-Black tree
(4) Threaded tree

Question Number : 54 Question Id : 5330723729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is a Self Balancing binary search tree, where the path from the root to the furthest leaf
is no more than twice as long as the path from the root to nearest leaf.

(I) Expression tree
(2) Game tree

(3) Red-Black tree
(4) Threaded tree

Question Number : 55 Question Id : 5330723730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
#include<stdio.h>
void main()
{
int arr[ ]=1{1, 2, 3, 4, B);
int «p =arr;
printf(“%d”, «p++);
printf(“ %d”, *(p+1));

Find the output of the above code?

M 12
@ 1.3
B) 2,3
4 1,4

Question Number : 55 Question Id : 5330723730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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#include<stdio.h>

void main()

{
int arr[ =11, 2, 3, 4, B);
int *p=arr;
printf(“%d”, «sp++);
printf(“ %d”, «(p+1));

Find the output of the above code?

M 1,2
@ 1,3
G) 2,3
4 1,4

Question Number : 56 Question Id : 5330723731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following C code :
#include<stdio.h>
nt temp = 0:
int fun(int x, int y)
{
int z; temp++;
if (y ==3) return{xsx=x);
else {
z=fun(x, y/3);
return(z=z+z);
!
|
int main()
{
fun(4, 81);
printf(“%d”, temp);
!
What will be the output of the above code ?
(1 3
(2) 4
(3) 5
(4) 6

Question Number : 56 Question Id : 5330723731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following C code :
#include<stdio.h>
int temp =0;
int fun(int x, int y)
{
int z; temp++;
if (y ==3) return(x#x#x);
else |
z=fun(x, y/3);
return(z=z+z);
!
!
int main( )
{
fun(4, 81);
printf(“%d”, temp);
|
What will be the output of the above code ?

1 3
2 4
(3) 5
4) ¢

Question Number : 57 Question Id : 5330723732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

#include<iostream.h>

using namespace std;

void swap(int &x, int &y)

{

int temp=x;

r=y,

¥= temp;
}
int main( )

{
int a=5, b=10;
swap(a,b);
swap(a,b);
cout<<a<<” "<<b;
return (;

|

What will be the output of above code ?

1 5,10
@ 10,5
B) 55
4) 10, 10
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Question Number : 57 Question Id : 5330723732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

#include<iostream.h>
usi_ug namespace std;
void swap(int &x, int &y)
{

nt temp = x;

=1

y= temp;
f
int main()

{
int a=5, b=10;
swap(a,b);
swap(a,b);
cout<<a<<” "<<b;
return 0;

}

What will be the output of above code ?

1 5,10
@ 10,5
B) 5,5
4) 10, 10

Question Number : 58 Question Id : 5330723733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the function in C code :

Cal(a, b) |
if (b!=1) |
if (al=1)|
printf(“+");
Cal(a/2, b);
!
else |

b=b-1;
Cal(10, b);
!
H

How many times + is goi_ng to be prinled, if the function is called with Cal(10, 10); ?

1 25
2 23
(B) 24
@) 27

Question Number : 58 Question Id : 5330723733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the function in C code :

Cal(a, b) {
if (b!=1) {
if (al=1) |
printf(”+");
Cal{a/2, b);
i
else |

b=b-1,;
Cal(10, b);
!
I

How many times + is goi_ng to be printed, if the function is called with Cal(10, 10); ?

1 25
2 23
() 24
@) 27

Question Number : 59 Question Id : 5330723734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Software con.figural'ion management, what is the primary purpose of version control ?
(1) To control the changes made to software
To document user requirements

— — —

2)
3) To estimate project cost
4) To design the software architecture

Question Number : 59 Question Id : 5330723734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Software con.figural'iﬂn management, what is the primary purpose of version control ?
(1) To control the changes made to software
To document user requirements

— — g—

2)
3) To estimate project cost
4) To design the software architecture

Question Number : 60 Question Id : 5330723735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a software project has 2000 lines of code (LOC) and the average productivity rate is 10 LOC per
person-hour, how many person-hours are required to complete the project ?

(1) 100
@) 150
(3) 200
(4) 250

Question Number : 60 Question Id : 5330723735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If a software project has 2000 lines of code (LOC) and the average productivity rate is 10 LOC per
person-hour, how many person—hou_rs are required to complete the project ?

(1) 100
@) 150
(3) 200
4) 250

Question Number : 61 Question Id : 5330723736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Given a project that uses the COCOMO model with an estimated effort of 2000 person-months
and a productivity rate of 5 person-month per KLOC, what is the estimated size of the project in
KLOC ?

(1) 200
(2) 400
(3) 100
4) 50

Question Number : 61 Question Id : 5330723736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Given a project that uses the COCOMO model with an estimated effort of 2000 person-months
and a productivity rate of 5 person-month per KLOC, what is the estimated size of the project in
KLOC ?

(1) 200
() 400
(3) 100
4) 50

Question Number : 62 Question Id : 5330723737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Given a project with an estimated effort of 1500 person-hours and a team of 5 people, how many
days will it take to complel‘e the project, if each person works 8 hours a day ?

(1) 30
@) 375
(3) 40

@) 455

Question Number : 62 Question Id : 5330723737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Given a project with an estimated effort of 1500 person-hours and a team of 5 people, how many
days will it take to complete the project, if each person works 8 hours a day ?

1) 30
@) 375
(3) 40

4) 455

Question Number : 63 Question Id : 5330723738 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Consider the three way hand shaking process followed during TCP connection establishment
between two hosts A and B. Let S and R be two random 32-bit starting sequence numbers chosen
by A and B, respectively. Suppose A sends a TCP segment having SYN bit=1, SEQ number =5
and ACK bit=0 and B accepts the connection request.

Which one of the following choices represents the information present in the TCP segment header
that 1s sent by Bto A?

(1) SYN bit=1, SEQ number=5+1, ACK bit=0, ACK number =R, FiN bit=0
(2) SYN bit=0, SEQ number=R, ACK bit=1, ACK number=5+1, FiN bit=0
(3) SYN bit=1, SEQ number=R, ACK bit=1, ACK number=5+1, FiN bit=0
(4) SYN bit=1, SEQ number=R, ACK bit=1, ACK number =5, FiN bit=0

Question Number : 63 Question Id : 5330723738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the three way hand shaking process followed during TCP connection establishment
between two hosts A and B. Let S and R be two random 32-bit starting sequence numbers chosen
by A and B, respectively. Suppose A sends a TCP segment having SYN bit=1, SEQ number =5
and ACK bit=0 and B accepts the connection request.

Which one of the following choices represents the information present in the TCP segment header
that is sentby Bto A?

(1) SYN bit=1, SEQ number=5+1, ACK bit=0, ACK number =R, FiN bit=0
(2) SYN bit=0, SEQ number=R, ACK bit=1, ACK number=5+1, FiN bit=0
(3) SYN bit=1, SEQ number=R, ACK bit=1, ACK number=5+1, FiN bit=0
(4) SYN bit=1, SEQ number=R, ACK bit=1, ACK number =5, FiN bit=0

Question Number : 64 Question Id : 5330723739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Two computers A and B are cmlfigured as follows : A has IPP address 203.197.2.53 and subnet
mask 255.255.128.0, B has [P address 203.197.75.201 and subnet mask 255.255.192.0. What one of

the following statement is true ?

(1) A and B both assume they are on the same network

(2) B assumes, A is on same network, A assumes B is on different network

(3) A assumes, B is on same network, but B assumes, A is on a different network
(4) A and B both assume they are on different network

Question Number : 64 Question Id : 5330723739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Two computers A and B are configured as follows : A has IP address 203.197.2.53 and subnet
mask 255.255.128.0, B has [P address 203.197.75.201 and subnet mask 255.255.192.0. What one of
the fDllDwi.ng statement is true ?

(I) A and B both assume they are on the same network

(2) B assumes, A is on same network, A assumes B is on different network

(3) A assumes, B is on same network, but B assumes, A is on a different network
(4) A and B both assume they are on different network

Question Number : 65 Question Id : 5330723740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A class B network on the Internet has a subnet mask of 255.255.248.0, what is the maximum
number of hosts per subnet ?

(1) 1022
) 1023
(3) 2046
4) 2047

Question Number : 65 Question Id : 5330723740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A class B network on the Internet has a subnet mask of 255.255.248.0, what is the maximum
number of hosts per subnet ?

(1) 1022
) 1023
(3) 2046
(4) 2047

Question Number : 66 Question Id : 5330723741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a token ring network the transmission speed is 107 bps and the propagation speed is 200 m/ ps.
The 1-bit delay in this network is equivalent to ;

(1) 20m
(2) 30m
(3) 50m
(4) 40 m

Question Number : 66 Question Id : 5330723741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a token ring network the transmission speed is 107 bps and the propagation speed is 200 m/ ws.
The 1-bit delay in this network is equivalent to

(1) 20m
(2) 30m
(3) 50m
(4) 40m

Question Number : 67 Question Id : 5330723742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider a CSMA/CD network that transmits data at the rate of 100 Mbps over a 1 Kilometre
cable with no repeater. If the minimum frame size required for this network is 1250 bytes, what is
the signal speed (km/ sec) in the cable.

(1) 8000
(2) 16000
(3) 12000
(4) 20000

Question Number : 67 Question Id : 5330723742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider a CSMA/CD network that transmits data at the rate of 100 Mbps over a 1 Kilometre
cable with no repeater. If the minimum frame size required for this network is 1250 bytes, what is

the signal speed (km/ sec) in the cable.

(1) 8000
() 16000
(3) 12000
(4) 20000
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Question Number : 68 Question Id : 5330723743 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Consider the following code :
#include<stdio.h>
void f1(char *x, char *y) {

char *t;; t;=x; x=y; y=t;;}
void [2(char **x, char *y) {

char *ty; t; ="*%; *x="y; *y=ty;}
int main()
{

char *a="0ONE", *b="TWQO";

fl(a, b); printf(“%s %s”, a, b);

2(&a, &Db); prmtf(”%s %St A, b);

return 0;

!

What will be the output of the above code?

(1) ONE TWO TWO ONE
(2) TWO ONE ONE TWO
(3) ONE TWO ONE TWO
(4) TWO ONE TWO ONE

Question Number : 68 Question Id : 5330723743 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Consider the following code :
#include<stdio.h>
void fl(char *x, char *y) |
char *t;; t;=x; x=y; y=1t
void f2(char **x, char **y) {
char *t;; t; ="%; *x=%y; *'y=ty}
int main( )
{
char *a="0ONE", *b="TWQO";
fl(a, b); printf(“%s %s”, a, b);
f2(&a, &b); printf(“%s %s”, a, b);
return 0;
|
What will be the output of the above code?
(1) ONE TWO TWO ONE
(2) TWO ONE ONE TWO
(3) ONE TWO ONE TWO
(4) TWO ONE TWO ONE

Question Number : 69 Question Id : 5330723744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Consider following C program :
#include<stdio.h>
int mainy()
{

int x[]=1{2, 4, 6, 8, 10};

int a, b=0, *y=_r+4;

for(a=0; a<5; a++)

{

b=b+(y—a)—*(y—a);

printf(“%d\n”, b);
return 0;

}
What will be the output of the above C program ?

(1) 4
(2) o
3 8
@) 10

Question Number : 69 Question Id : 5330723744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider following C program :
#indude<stdio.h>
int main()
{
int x[]={2, 4, 6, 8, 10};
inta, b=0, *y=x+4;
for(a=0; a<5; at+)
{
b=b+(y—a)—*(y—a)

printf(“%d\n”, b);
return 0;

}
What will be the output of the above C program ?

1 4
(2) 6
@) 8
) 10

Question Number : 70 Question Id : 5330723745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct way to declare a functional pointer in C ?
(1) int *func (int, int);

(2) int (*func) (int, int);

(3) int (func®) (int, int);

(4) int *func* (int, int);

Question Number : 70 Question Id : 5330723745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct way to declare a functional pointer in C ?
(1) int *func (int, int);

(2) int (*func) (int, int);

(3) int (func®) (int, int);

(4) int *func* (int, int);

Question Number : 71 Question Id : 5330723746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What will be the output of the following C code?

#include<stdio.h>

void main()

{
int arr[5] = {10, 20, 30, 40, 50};
int *p = (int") (&arr + 1);
printf(“%d%d”, *(@arr+1), *(p—1));

(1) 1050
(2) 2050
(3) 30 40
(4) 20 40

Question Number : 71 Question Id : 5330723746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
What will be the output of the following C code?
#include<stdio.h>
void main()
{
int arr[5] = {10, 20, 30, 40, 50};
int *p = (int") (&arr + 1);
printf(“%d%d”, *@arr+1), *(p—1));

(1) 1050
(2) 2050
(3) 30 40
(4) 20 40

Question Number : 72 Question Id : 5330723747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the output of code given below :
#include<iostream.h>
using namespace std;
class Base |
public:
Base(){
cout<<”Base Const”;

|

virtual ~Base()

cout<<”Base dest”;

)
class derived : public Base |
public:
Derived() {
cout<<“Derived Const”;
}
~Derived() {
cout<<“Derived dest”;

I
;
int main()
i
Base *b=new Derived();
delete b;
return 0;

(1) Base Const Derived Const Derived dest Base dest
(2) Base Const Derived Const Base dest Derived dest
(3) Derived Const Base Const Base dest Derived dest
(4) Base Const Derived Const Base dest

Question Number : 72 Question Id : 5330723747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the output of code given below :
#include<iostream.h>
using namespace std;
class Base |
public:
Base(){
cout<<”Base Const”;

|

virtual ~Base()

cout<<”Base dest”;

)
class derived : public Base |
public:
Derived() {
cout<<“Derived Const”;
|
~Derived() {
cout<<“Derived dest”;

i
;
int main()
i
Base *b=new Derived();
delete b;
return 0;

(1) Base Const Derived Const Derived dest Base dest
(2) Base Const Derived Const Base dest Derived dest
(3) Derived Const Base Const Base dest Derived dest
(4) Base Const Derived Const Base dest

Question Number : 73 Question Id : 5330723748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following C++ statements correctly declares an abstract class ?
(1) class A { virtual void show()=0; };

(2) class A { void show()=0; };

(3) class A {void show() {};}

(4) «class A { show()=0; };

Question Number : 73 Question Id : 5330723748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following C++ statements correctly declares an abstract class ?
(1) class A { virtual void show()=0; };

(2) class A { void show()=0; };

(3) «class A {void show() {}; };

(4) class A { show()=0; };

Question Number : 74 Question Id : 5330723749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fifth normal form is concerned with :

(1) Join Dependency

(2) Domain-Key
(3) Multivalued dependency
(4) Functional dependency

Question Number : 74 Question Id : 5330723749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fifth normal form is concerned with :

(I)  Join Dependency

(2) Domain-Key

(3) Multivalued dependency

(4)

Functional dependency

Question Number : 75 Question Id : 5330723750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does a relational database ensure data integrity ?
(1) By encrypting all data stored

(2) By enforcing rules defined in the schema
(3) By compressing data for efficient storage
(4) By allowing unrestricted access to all users

Question Number : 75 Question Id : 5330723750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does a relational database ensure data integrity ?
(1) By encrypting all data stored

(2) By enforcing rules defined in the schema

(3) By compressing data for efficient storage

(4) By allowing unrestricted access to all users

Question Number : 76 Question Id : 5330723751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is SQL primarily used for in the context of relational databases ?
(1) To design user interfaces

(2) To create and manipulate databases

(3) To display data on web pages

(4) To format printed reports
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Question Number : 76 Question Id : 5330723751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is SQL primarily used for in the context of relational databases ?
(1) To design user interfaces

(2) To create and manipulate databases

(3) To display data on web pages

(4)

To format printed reports

Question Number : 77 Question Id : 5330723752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following best describes the structure of a relational database ?
(I) Data organized into tables with rows and columns

(2) Data organized into files and folders
(3) Data organized into a hierarchical tree structure
(4) Data organized into a network of interconnected nodes

Question Number : 77 Question Id : 5330723752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following best describes the structure of a relational database ?
(I) Data organized into tables with rows and columns

(2) Data organized into files and folders
(3) Data organized into a hierarchical tree structure
(4) Data organized into a network of interconnected nodes

Question Number : 78 Question Id : 5330723753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider a schema R(P,Q,R,S) and the following functional dependencies P—=Q, Q—R, R—5, 5-0.
Then decomposition of R (P,Q), R, (Q,R) and R, (Q,S) is :

(1) Dependency Preserving and lossless join

(2) Lossless Join but not dependency preserving

(3) Dependency preserving but not lossless Join

(4) Not dependency preserving and not lossless join

Question Number : 78 Question Id : 5330723753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider a schema R(P,Q,R,S) and the following functional dependencies P—Q, Q—R, R—-S5, 5-0Q.
Then decomposition of Ry (P,Q), R, (QR) and R, (Q,S) is :

(1) Dependency Preserving and lossless join

(2) Lossless Join but not dependency preserving

(3) Dependency preserving but not lossless Join

(4) Not dependency preserving and not lossless join

Question Number : 79 Question Id : 5330723754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider a relation schema R= (U, V, W, X, Y, Z), on which the following functional dependencies
hold :

U=V, VIW=X, Y=2W; X->U}
The candidate keys of R are :
(] UYVY
(Z) Y, VY.D0Y
(3) UYZ VYZ, VWZ
(4) UYZ VYZ, XYZ

Question Number : 79 Question Id : 5330723754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider a relation schema R= (U, V, W, X, Y, Z), on which the following functional dependencies
hold :

U=V, VWX, Y-=W,; X->U)
The candidate keys of R are :
(ly  UY,VY
(Z) Y, VY.D0Y
(3) UYZ VYZ, VWZ
(4) UYZ VYZ, XYZ

Question Number : 80 Question Id : 5330723755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following relations can not be decomposed in to BCNF with a lossless join and
dependency-preserving decomposition ?

1) RV, W, XY, Z) [VIWoX, WXoV, VXoW, WY, YoZ)
@ RV, W, X Y) {VWoW, X-Y]

3) R (V,W, X Y) [VWoX, XoVY]}

@ RV, W, XY, Z) {VW=X, X=Y, YZ, Z-V)

Question Number : 80 Question Id : 5330723755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following relations can not be decomposed in to BCNF with a lossless join and
dependency-preserving decomposition ?

1) RV, W, XY, Z) [VW-oX, WX=V, VXoW, WoY, YoZ)
2 RV, W, XY) {VW=W, X=Y)

() R (V,W, X Y) VWX, X-VY}

@ RV, W, XY, Z) {VWoX, XoY, YSZ, Z>V)

Question Number : 81 Question Id : 5330723756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a schema R(A, B, C, D, E, F, G, H), each field of R contains only atomic values.

F={CH—-G, A—»BC, B—»CFH, E—»A, F-EG]} is a set of functional dependencies so that F + is exactly
the set of FDs that holds R. The relation R is :

(1) In INF, but not in 2NF

(2) In 2NF, but not in 3NF

(3) In 3NF, but not in BCNF

(4) In BCNF

Question Number : 81 Question Id : 5330723756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a schema R(A, B, C, D, E, F, G, H), each field of R contains mﬂy atomic values.

F=|{CH-G, A-»BC, B»CFH, E—» A, F-EG]} is a set of functional dependencies so that F +is exactly
the set of FDs that holds R. The relation R is :

(1) In INF, but not in 2NF

(2) In 2NF, but not in 3NF

(3) In 3NF, but not in BCNF

(4) In BCNF

Question Number : 82 Question Id : 5330723757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the transactions Ty, T,, T; and the schedules S; and S, given below.
Ty 11(30; 11(2); we(2)
Ty 2 1y(y); 15(2); Wo(2)
T3 2 13(y); 13(x); wa(y)
Sy 2 1y(x); 15y} 13(x); 15(¥); 15(2); Wi(y); walz);
r(z); wy(x); wy(z)
Sy = (%) 13(y); ra(y); 13(x); 11(2); 12(2); Wa(y);
wy(x); W, (z); wy(z)
Which one of the following statements about the schedules is TRUE ?
(1) Only S, is conflict-serializable
(2) Only S, is conflict-serializable
(3) Both S, and S, are conflict-serializable
(4) Neither S; nor S, is conflict-serializable

Question Number : 82 Question Id : 5330723757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the transactions Ty, T,, T; and the schedules S; and S, given below.
Ty s ryx); 1y(2); wy(z)
Ty = 1y(y); ro(2); wo(2)
T5 = 13(y); 13(x); w(y)
Sy 1 ry(x); 13(y); 13(x); 15(y); 1o(2); wa(y); ws(z);
ry(z); wy(x); wy(z)
Sy = ry(x); 1a3(y); oY) 13(x); 1(2); 12(2); waly);
wy(x); w,(z); wy(z)
Which one of the following statements about the schedules is TRUE ?
(1) Only S, is conflict-serializable
(2) Only S, is conflict-serializable
(3) Both S; and S, are conflict-serializable
(4) Neither S; nor S, is conflict-serializable

Question Number : 83 Question Id : 5330723758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let G(V, E) be an undirected graph with [ edges. Then the sum of degree of all vertices is equal to

1 21
@ 1/2
G) B

@ v

Question Number : 83 Question Id : 5330723758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let G(V, E) be an undirected graph with [ edges. Then the sum of degree of all vertices is equal to

1 21
2 I/2
@) B

@

Question Number : 84 Question Id : 5330723759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 software professionals were interviewed for a job. 25 knew PYTHON 20 knew JAVA and 7

knew neither language. How many knew both languages ?

1) 20
2 53
3) 10
(4) 88

Question Number : 84 Question Id : 5330723759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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40 software professionals were interviewed for a job. 25 knew PYTHON 20 knew JAVA and 7

knew neither language. How many knew both languages ?

1) 20
2 53
@) 10
(4) 88

Question Number : 85 Question Id : 5330723760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let P be “Itis hot day” and q be “The temperature is 48°C". Write in simple sentences the meaning
of ~pa~q.

(1) Itis hot day or temprature is 48°C

2) Itis cold day or temprature is 48°C

3) It is neither a hot day nor temperature is 48°C

1)

— — p—

It is not a hot day

Question Number : 85 Question Id : 5330723760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let P be “Itis hot day” and g be “The temperature is 48°C". Write in simple sentences the meaning
of ~pa~q.

(1) Itis hot day or temprature is 48°C

2) Itis cold day or temprature is 48°C

3) It is neither a hot day nor temperature is 48°C

1)

— — p—

[t is not a hot day

Question Number : 86 Question Id : 5330723761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let L (x, y) be the statement “x loves " where the domain for both x and y consists of all people in
the world. Use quantifiers to express “Joy is loved by everyone”.

(1)  Vx L{x, Joy)
(2 vy L{oy, y)
() 3Jyvx L(x y)
(4) 3x- Loy, 1)

Question Number : 86 Question Id : 5330723761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Let L (x, y) be the statement “x loves " where the domain for both x and y consists of all people in
the world. Use quantifiers to express “Joy is loved by everyone”.

(1) ¥x L(x, Joy)
(2) vy Loy, y)
() Fyvx Lx, y)
(4)  Fx- Loy, v)

Question Number : 87 Question Id : 5330723762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Translate Vx3y(x<y) in English. Consider domain as a real number for both the variables.
(1) For all real numbers x, there exists a real number y such that x is less than y

(2) For every real numbers y, there exists a real number x such that x is less than y

(3) For some real numbers x, there exists a real number i such that x is less than y

(4)

For each and every real numbers x and y, x is less than y

Question Number : 87 Question Id : 5330723762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Translate Vx3y(x<y) in English. Consider domain as a real number for both the variables.
(1) For all real numbers x, there exists a real number y such that x is less than y

(2) For every real numbers y, there exists a real number x such that x is less than y

(3) For some real numbers x, there exists a real number i such that x is less than y

)

For each and every real numbers x and y, x is less than y

Question Number : 88 Question Id : 5330723763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A multi processor system with 16 processors is used to execute a parallelizable task. If the serial
portion of the task takes 200 clock cycles and the parallel portion take 800 clock cycles. When all 16
processor are used how many total clock cycles are required to complete the task ?

(1) 250
() 300
(3) 400
(4) 450

Question Number : 88 Question Id : 5330723763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A multi processor system with 16 processors is used to execute a parallelizable task. If the serial
portion of the task takes 200 clock cycles and the parallel portion take 800 clock cycles. When all 16
processor are used how many total clock cycles are required to complete the task ?

1) 250
) 300
(3) 400
4) 450

Question Number : 89 Question Id : 5330723764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A CPU has a 5-stage pipeline with the following stages Fetch (F), Decode (D), Execute (E), Memory
(M) and Write-back (W). Each stage takes one clock cycle to complete. Assume there are no pipeline
stalls and the pipeline is initially empty. How many clock cycles are required to complete the
execution of 10 instructions ?

1) 10
@) 14
(@) 15
4) 19

Question Number : 89 Question Id : 5330723764 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

A CPU has a 5-stage pipeline with the following stages Fetch (F), Decode (D), Execute (E), Memory
(M) and Write-back (W). Each stage takes one clock cycle to complete. Assume there are no pipeline
stalls and the pipeline is initially empty. How many clock cycles are required to complete the
execution of 10 instructions ?

1 10
@) 14
(3) 15
4) 19

Question Number : 90 Question Id : 5330723765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A vector processor with 16 lanes can perform an operation on 1024 elements with each operation
taking 5 clock cycles. How many cycles are needed to complete the operation ?

(1) 64
2) 80

(3) 100
4) 128

Question Number : 90 Question Id : 5330723765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A vector processor with 16 lanes can perform an operation on 1024 elements with each operation
taking 5 clock cycles. How many cycles are needed to complete the operation ?

(1) 64
2) 80

(3) 100
4) 128

Question Number : 91 Question Id : 5330723766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of database design in the correct order :
(A) Physical Design

(B) Conceptual Design

(C) Logical Design

(D) Requirement Analysis

Choose the correct answer from the options given below :

(1) () (D), (A), ©

(@) (©) (A), (B), (D)

3) () (B), ©, (A)

4) (@A), (D) () (B)

Question Number : 91 Question Id : 5330723766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following phases of database design in the correct order :
(A) Physical Design

(B) Conceptual Design

(C) Logical Design

(D) Requirement Analysis

Choose the correct answer from the options given below :

(1) (B, (D), (A), ©)

(2 (©), (A), (B) (D)

(3) (D), (B), (©), (A)

4) (@A), (D) () (B)

Question Number : 92 Question Id : 5330723767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Out the following steps in the proper sequence for simplifying a Boolean function using a Karnaugh
map (K-map).

(A) Identify and group the largest possible cluster of 1’s

(B) Draw the K-map for the given Boolean function

(C) Write the simplified Boolean expression from the grouped clusters

(D) Transfer the truth table values to the K-map

Choose the correct answer from the options given below :

() (B, (D). (A), ©

(2) (D) (B), (A), (©)
3 B, @A), D), ©
@) (A), (B, (©) (D)

Question Number : 92 Question Id : 5330723767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Out the following steps in the proper sequence for simplifying a Boolean function using a Karnaugh
map (K-map).

(A) Identify and group the largest possible cluster of 1’s

(B) Draw the K-map for the given Boolean function

(C) Write the simplified Boolean expression from the grouped clusters

(D) Transfer the truth table values to the K-map

Choose the correct answer from the options given below :

(1) (B, (D), (A), ©

(2 D) (B), (A) ©)
@) B, @A), D), ©
) (A), (B), (C) (D)

Question Number : 93 Question Id : 5330723768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the given steps required for a Direct Memory Access (DMA) transfer in the correct order.
(A) Initiate DMA transfer request

(B) Transfer data directly between peripheral and memory

(C) Processor grants DMA control over the system bus

(D) DMA controller completes data transfer and signals completion
Choose the correct answer from the options given below :

(1) (C). (A), (B), (D)

2 (A) (©), (B), (D)

3) (&), (B). (O) (D)

@ (©. (B) (A) (D)

Question Number : 93 Question Id : 5330723768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the given steps required for a Direct Memory Access (DMA) transfer in the correct order.

(A) Initiate DMA transfer request

(B) Transfer data directly between peripheral and memory

(C) Processor grants DMA control over the system bus

(D) DMA controller completes data transfer and signals completion
Choose the correct answer from the options given below :

1) (©. (A) (B), (D)

2 (A) (©), (B) (D)

(3)  (A) (B), Q) (D)

@) (©, (®) (A) (D)

Question Number : 94 Question Id : 5330723769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of file handling in C in the correct order :
(A) Close the file

(B) Read from or write to the file

(C) Open the file

(D) Check for error

Choose the correct answer from the options given below :

(1) (A), ©, (D), (B)

@ ([©) (), © (A

() (©). (D), B), (A)

4) (B), (D), (A), (O

Question Number : 94 Question Id : 5330723769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps of file handling in C in the correct order :
(A) Close the file

(B) Read from or write to the file

(C) Open the file

(D) Check for error

Choose the correct answer from the options given below :
1) (A), ©, (D), B

@ (D) (B), © (A

@) (©, (D), B) (A)

(4) (B), (D). (A), (©)

Question Number : 95 Question Id : 5330723770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of the storage device in ascending order based on their access time.
(A) Registers

(B) Magnetic Disk

(C) Magnetic Tapes

(D) Main memory

(E) Optical Disk

Choose the correct answer from the options given below :
(1) (B, (A), (D), (O, (E)

(2 (B, (A). (B), (D), Q)

(3 (©) (B), (A), (E), (D)

(4) (), (E) (B), (D), (A)

Question Number : 95 Question Id : 5330723770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of the storage device in ascending order based on their access time.
(A) Registers

(B) Magnetic Disk

(C) Magnetic Tapes

(D) Main memory

(E) Optical Disk

Choose the correct answer from the options given below :
(1) (B), (A), (D), (O), (E)

(2 (B, (A). (B), (D), Q)

(3) (G, (B), (A), (E), (D)

(4) (), (E) (B). (D), (A)

Question Number : 96 Question Id : 5330723771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following phases of the Agile process in the correct sequence :

(A) Design
(B) Release
(C) Testing

(D) Development
(E) Planning
Choose the correct answer from the options given below :

(1) (A (B), (D), (E), (C)

2 (A) (D), (E) (B), (CO)
(3) (B, (A) (D), (O, (B)
4) (E), (D) (A) (O) (B)

Question Number : 96 Question Id : 5330723771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of the Agile process in the correct sequence :

(A) Design
(B) Release
(C) Testing

(D) Development

(E) Planning

Choose the correct answer from the options given below :
(1) (A), (B), (D), (E), (O)

(2) (A), (D), (E), (B), (C)

(3)  (E), (A), (D), (), (B)

(4) (E), (D) (A), (O), (B)

Question Number : 97 Question Id : 5330723772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of Feature Drive Development (FDD) process in the correct sequence :
(A) Develop an overall model

(B) Build by feature

(C) Plan by feature

(D) Design by feature

(E) Build a feature list

Choose the correct answer from the options given below :
1) (A), (©), B) E), D)

@  (A), (B), ©, D) (B)

(3)  (B), (A), (D), (E), (C)

@) (&) (B) (©), (EB), (D)

Question Number : 97 Question Id : 5330723772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps of Feature Drive Development (FDD) process in the correct sequence :
(A) Develop an overall model

(B) Build by feature

(C) Plan by feature

(D) Design by feature

(E) Build a feature list

Choose the correct answer from the options given below :
(1) (A, (©), (B), (E), (D)

(2 (A, (B), ©), (D), (B)

(3)  (B), (A), (D), (E), (O)

4) (A, (B), (Q), (B), (D)

Question Number : 98 Question Id : 5330723773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the correct order to solve the Knapsack problem using Dynamic
Programming.
(A) Define the base case when the capacity is zero (0) or no items are left to consider

(B) Compute the maximum value that can be obtained using items up to the i-th item and a
knapsack capacity of 0

(C) Identify subproblems and their dependencies based on items weights and values
(D) Initialize a table to store results of subproblems
(E) Iterate through each item and each possible Capacity to fill the table

Choose the correct answer from the options given below :

(1 (©). (D), (A), (B), (B)

2 D) (©) (A) (B) (B)
(3) (A, (©), (D), (E), (B)
4) (D) (A). (), (B), (B)

Question Number : 98 Question Id : 5330723773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the correct order to solve the Knapsack problem using Dynamic
Programming.
(A) Define the base case when the capacity is zero (0) or no items are left to consider

(B) Compute the maximum value that can be obtained using items up to the i-th item and a

knapsack capacity of 0
(C) Identify subproblems and their dependencies based on items weights and values
(D) Initialize a table to store results of subproblems
(E) Iterate through each item and each possible Capacity to fill the table

Choose the correct answer from the options given below :

(M (©), (D), (A), (B), (B)

2 DO (©) (A) (B) (B)
(3)  (A)(©), (D), (E), (B)
) D) (A), (©). (B), (B)
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Question Number : 99 Question Id : 5330723774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following recurrence relations in increasing order of their time capacity.
(A) T(n)=T(n/2)+1

(B) Tm)=2T(n/2)+n

(C) Tn)=3T(n/3)+n

(D) T(n)=2T(n/2)+ n

(E) T(n)=T(n-1)+1

Choose the correct answer from the options given below :
(1) (), (A), B), (D), (O)

(2 (A (B), (D), (B), (O
3)  (E), (A), (D), (B), (O)
(4) (A), (B), (D), (E), (O)

Question Number : 99 Question Id : 5330723774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following recurrence relations in increasing order of their ime capacity.
(A) T(n)=T(n/2)+1

(B) Tm)=2T(n/2)+n

(C) T(n)=3T(n/3)+n

(D) Tn)=2T(n/2)+ n

(E) T(n)=Tn-1)+1

Choose the correct answer from the options given below :
(1) (B), (A), (B), (D), ()

2 (A, (E), (D), (B), (O)
(3) (B}, (A), (D), (B), (C)
(4) (A), (B), (D), (E), (O)

Question Number : 100 Question Id : 5330723775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of a Turing Machine (TM) operation in the correct order as they
occur during computation.

(A) Writing a symbol on the tape

(B) Moving the tape head left to right

(C) Reading a symbol from the tape

(D) Transitioning to a new state based on the current state and symbol read
(E) Halting and accepting or rejecting the input

Choose the correct answer from the options given below :

@ (©). (A), (B), (D) (E)

(2 (©. (B), (A), (D), (E)

(3)  (©. (D) (A). (B), (E)

@) (©), (D) (B) (A), (E)
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Question Number : 100 Question Id : 5330723775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Arrange the following stages of a Turing Machine (TM) operation in the correct order as they
occur during computation.
(A) Writing a symbol on the tape
(B) Moving the tape head left to right
(C) Reading a symbol from the tape
(D) Transitioning to a new state based on the current state and symbol read
(E) Halting and accepting or rejecting the input
Choose the correct answer from the options given below :
M ©). (A), (B), (D) (E)
2 (©. (B). (A), (D), (E)
B)  (©), (D) (A), (B), (E)
@)  (©. (D) (B) (A), (E)

Question Number : 101 Question Id : 5330723776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of parsing in the correct order as they typically occur in the compilation
process.

(A) Lexical Analysis

(B) Sematic Analysis

(C) Syntax Analysis

(D) Intermediate Code Generation

(E) Code Optimization

Choose the correct answer from the options given below :
(1) (A, (B), (C), (D), (E)

2 @A), (©), (B), (D), (E)

(3)  (A), (D). (B), (O), (E)

4 (A), (), (D), (B), (E)

Question Number : 101 Question Id : 5330723776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of parsing in the correct order as they typically occur in the compilation
process.

(A) Lexical Analysis

(B) Sematic Analysis

(C) Syntax Analysis

(D) Intermediate Code Generation

(E) Code Optimization

Choose the correct answer from the options given below :

1) (A), (B), ©), D), ()

@ (A), (O, (), (D) (B)
(3) (A), (D). (B), (O) (E)
4 (A), (C), (D), (B) (E)
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Question Number : 102 Question Id : 5330723777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Language Classes in ascending order according to their expressive power,
as defined by Chomsky hierarchy :

(A) Context-free languages

(B) Context-sensitive languages

(C) Regular languages

(D) Unrestricted Grammars

Choose the correct answer from the options given below :

(1) (©). (A), (B), (D)

(2 (Q), (A), (D), (B)

(B) A, ©), (B) (D)

4) (A), (D) (B), (©)

Question Number : 102 Question Id : 5330723777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Language Classes in ascending order according to their expressive power,
as defined by Chomsky hierarchy :

(A) Context-free languages

(B) Context-sensitive languages

(C) Regular languages

(D) Unrestricted Grammars

Choose the correct answer from the options given below :

(1) (©. @A), (B) (D)

(2) (©Q),(A), (D) (B)

(B) A, ©), (B) (D)

(4) (A), (D) (B), O

Question Number : 103 Question Id : 5330723778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in a proper sequence for the typical process of a DNS query :
(A) Query authoritative DNS Server

(B) Query local DNS Server

(C) Local DNS Server Check Cache

(D) Query root DNS Server

(E) Query TLD DNS Server

Choose the correct answer from the options given below :
(1) (A (©) (E), (B), (D)

2 (B, (A) (©), (B), (D)
(3) (&) (B), (©), (D) (E)
) (), (O (D), (E), (A)

Question Number : 103 Question Id : 5330723778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps in a proper sequence for the typical process of a DNS query :
(A) Query authoritative DNS Server

(B) Query local DNS Server

(C) Local DNS Server Check Cache

(D) Query root DNS Server

(E) Query TLD DNS Server

Choose the correct answer from the options given below :
(1) (A) (©), (E), (B), (D)

2 (E), (A), ©), (B), (D)
(3) (A (B). (©), (D) (E)
4) (B, (O (D), (E) (A)

Question Number : 104 Question Id : 5330723779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in a proper sequence for the process of training a neural network.
(A) Weight initialization

(B) Feed forward

(C) Back Propagation

(D) Loss Calculation

(E) Weight Update

Choose the correct answer from the options given below :
(1) (A), (B), (D), (O (B

@ (D) (B (A), ©), )

(3 (A), (©), (D), (B), (E)

(4) (B), (©) (B). (D), (A)

Question Number : 104 Question Id : 5330723779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in a proper sequence for the process of training a neural network.
(A) Weight initialization

(B) Feed forward

(C) Back Propagation

(D) Loss Calculation

(E) Weight Update

Choose the correct answer from the options given below :
1) (A), (B), @), (©) ()

2 (D), (B) (A), (), (E)

(3 (A), (©), (D), (B), (E)

(4) (B), (C) (B). (D), (A)

Question Number : 105 Question Id : 5330723780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps in proper sequence involved in a Genetic Algorithm :
(A) Selection

(B) Initialization

(C) Crossover

(D) Mutation

(E) Evaluation

Choose the correct answer from the options given below :

(1) (A), (B), ), (D), (E)

@ (), (A), B), D), (O

(3)  (B), (E) (A), (C), (D)
4 (A, (Q), (B), (D) (E)

Question Number : 105 Question Id : 5330723780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in proper sequence involved in a Genetic Algorithm :
(A) Selection

(B) Initialization

(C) Crossover

(D) Mutation

(E) Evaluation

Choose the correct answer from the options given below :
(1) (A), (B), ©), D), (B

@ (© (4), (), D) ©

(3)  (B), (E), (A), (©), (D)

4 (A, (Q), (B), (D) (E)

Question Number : 106 Question Id : 5330723781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are context free language ?
(A) (wixy*Z|i+k=j+1, wherei,j, k, [=0}

(B) (w'xy*Z|i=jand k=1, where i, j, k, =0}
(C) (w'¥ykz!|i=j=k and k#l, where i, j, k, =0}
(D) {wixykz'|i=j=k+I, where i, j, k, =0}

(E) (w'xy*z|i=j=1and k#l, where i, j, k, =0}
Choose the correct answer from the options given below :
(1)  (A), (B) Only

(2) (B), (C) Only

(3 (©), (D) Only

(4) (D), (E) Only

Question Number : 106 Question Id : 5330723781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are context free language ?
(A) (wixy*Z|i+k=j+1, wherei,j k, [=0}

(B) (w'xy*Z|i=jand k=1, where i, j, k, =0}
(C) (wixykz|i=j=k and k#l, where i, j, k, =0}
(D) {wixy*z|i=j=k+1, wherei,j, k, [=0}

(E) (w'xy*Z|i=j=1and k#l, where i, j, k, =0
Choose the correct answer from the options given below :
(1)  (A), (B) Only

(2) (B), (C) Only

(@) (©), (D) Only

(4) (D), (E) Only

Question Number : 107 Question Id : 5330723782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A coin is tossed successively three times. Find the Probability (P), Event (E), Sample space (S) of

getting exactly one head or two heads, where n is number of occurrence.

(A) n(S)=8 and n(E)=4

(B) n(E)=6 and n(S)=8

(©) PE)

(D) P(E)

R = e w

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)

(2) (B) and (C) Only

(3) (A) and (D) Only

4) (€) and (D) Only

Question Number : 107 Question Id : 5330723782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 69/101



8/23/24, 9:45 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

A coin is tossed successively three times. Find the Probability (P), Event (E), Sample space (S) of
getting exactly one head or two heads, where n is number of occurrence.

(A) n(5)=8 and n(E)=4

(B) n(E)=6 and n(S)=8

(€) P(E)

R = e w

(D) PE)

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)

(2) (B) and (C) Only

(3) (A) and (D) Only

4) (C) and (D) Only

Question Number : 108 Question Id : 5330723783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the given number (45), where y is the base of the number. Some of the possible values of
y are given below. J

(A) 5
(B) 6
© 7
(D) 8

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B, (C) and (D) Only

(3) (A), (C) and (D) Only

(4) (A), (B), (C) and (D)

Question Number : 108 Question Id : 5330723783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the given number (45), where y is the base of the number. Some of the possible values of
y are given below. ’

(A) 5
(B) 6
© 7
(D) 8

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B, (C) and (D) Only

(3) (A), (C) and (D) Only

(4) (A), (B), (C) and (D)
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Question Number : 109 Question Id : 5330723784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statement regarding special purpose registers.

(A) Program Counter (PC) keeps the track of next instruction executed

(B) Instruction register holds the address of first instruction to be executed

(C) Accumulator holds the output of ALU

(D) Program Counter (PC) keeps the track of only first instruction of the program
Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

4) (A), (B) and (C) Only

Question Number : 109 Question Id : 5330723784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statement regarding special purpose registers.

(A) Program Counter (PC) keeps the track of next instruction executed
(B) Instruction register holds the address of first instruction to be executed
(C) Accumulator holds the output of ALU

(D) Program Counter (PC) keeps the track of only first instruction of the program
Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

4) (A), (B) and (C) Only

Question Number : 110 Question Id : 5330723785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE about Process Control Block (PCB) ?

(A) The PCB contains information about the process state, such as whether it is running, waiting
or terminated

(B) The PCB includes the program code and data segments of the process

(C) The PCB stores the process’s memory management information, such as page tables and
segment tables

(D) The PCB is used to track process scheduling information and CPU registers for process

execution
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (©) and (D) Only
(3) (A), (C) and (D) Only
(4) (A) and (B) Only

Question Number : 110 Question Id : 5330723785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are TRUE about Process Control Block (PCB) ?

(A) The PCB contains information about the process state, such as whether it is running, waiting
or terminated

(B) The PCB includes the program code and data segments of the process

(C) The PCB stores the process’s memory management information, such as page tables and
segment tables

(D) The PCB is used to track process scheduling information and CPU registers for process

execution
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3)  (A), (©) and (D) Only
(4) (A) and (B) Only

Question Number : 111 Question Id : 5330723786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE about Privileged Instructions ?
(A) It can only be executed by the Operating System kernel and not by user applications.

(B) It is designed to perform operations that can directly affect the hardware or system state
such as [/O operations or changing memory management setting.

(C) User applications can execute privileged instructions if they have to correct permissions, set
by the Operating System.

(D) It usually executed in user mode to ensure the safety and security of the system.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

() (A), (B) and (C) Only

(3) (B) and (C) Only

(4) (B), (C) and (D) Only

Question Number : 111 Question Id : 5330723786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE about Privileged Instructions ?
(A) It can only be executed by the Operating System kernel and not by user applications.

(B) It is designed to perform operations that can directly affect the hardware or system state
such as I/O operations or changing memory management setting.

(C) User applications can execute privileged instructions if they have to correct permissions, set

by the Operating System.
(D) It usually executed in user mode to ensure the safety and security of the system.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A), (B) and (C) Only
(3) (B) and (C) Only
(4) (B), (C) and (D) Only

Question Number : 112 Question Id : 5330723787 Question Type : MCQ Option Shuffling : No
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Which of the fD]lDwmg statements are TRUE about mutual exclusion in concurrent programming ?

(A)
(B)

(©)

(D)

Mutual exclusion ensures that Dn_ly one process can be in a critical section at any given time.

Mutual exclusion are designed to prevent conflicts and ensure that only one process can
access shared resources at a ime.

Mutual exclusion can use various algm‘ithms to ensure that processes do not enter the critical
section simultaneously.

Mutual exclusion allows multiple processes to access the critical section simultaneously to
improve perfnrmance.

Choose the correct answer from the options given below :

(L)
()
&)
4)

(A), (B), (©) Only
(B), (C), (D) Only
(B), (D), (A) Only
(4A), (©), (D) Only

Question Number : 112 Question Id : 5330723787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fU]lDW]'_ng statements are TRUE about mutual exclusion in concurrent programming ?

(A)
(B)

(©)

(D)

Mutual exclusion ensures that only one process can be in a critical section at any given time.

Mutual exclusion are designed to prevent conflicts and ensure that Dnl‘y one process can
access shared resources at a ime.

Mutual exclusion can use various algorithms to ensure that processes do not enter the critical
section simultaneously.

Mutual exclusion allows multiple processes to access the critical section simultaneously to
improve perfnrmance.

Choose the correct answer from the options given below :

(L)
2
3)
4

(A), (B), (©) Only
(B), (C), (D) Only
(B), (D), (A) Only
(A), (©), (D) Only

Question Number : 113 Question Id : 5330723788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following languages can be recognized by Non-Deterministic Finite Automata (NFA)
but cannot be recognized by Deterministic Finite Automata (DFA) ?

(A)
(B)
(©)
(D)
(E)

L, ={we|0, 1}*| the length of w is even]

L, ={we {0, 1}* | the length of w is odd]}

Ly={we |0, 1}*|all 0's come before all 1's in w}

Ly={we |0, 1}* | w contains an equal number of 0’s and 1s}
L;={we {0, 1}*|all 1's come before all 0's in w}

Choose the correct answer from the options given below :

(1)
()
3)
(4)

(A) and (B) Only
(B) and (C) Only
(C) and (D) Only
(D) and (E) Only
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Question Number : 113 Question Id : 5330723788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following languages can be recognized by Non-Deterministic Finite Automata (NFA)
but cannot be recognized by Deterministic Finite Automata (DFA) ?

(A) L;={wel0, 1}*|the length of w is even]

(B) L,={wel0, 1}*|the length of w is odd}

(C) Ly={wel0, 1}*|all 0's come before all 1’s in w}

(D) Ly={wel0, 1}*|w contains an equal number of 0's and 1’s}
(E) Lg={we{0, 1}*|all 1's come before all 0's in w}

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Question Number : 114 Question Id : 5330723789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(A) In IPv4 addressing, a block of address can be define as x.y.z.t/n in which x.y.z.t define one
of the address and /n define the mask

(B) The first address in the block can be found by setting the rightmost 32-n bits to Os

(C) Address of class C is used for multicast communication

(D) There are five classes in IPv4 address

(E) Supernetting combine several networks into one large network

Choose the correct answer from the options given below :

() (A), (B) and (C) Only

() (A), (B), (D) and (E) Only

(3) (A), (O), (D) and (E) Only

4) (©), (D) and (E) Only

Question Number : 114 Question Id : 5330723789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(A) In IPv4 addressing, a block of address can be define as x.y.z.t/n in which x.y.z.t define one
of the address and /n define the mask

(B) The first address in the block can be found by setting the rightmost 32-n bits to Os

(C) Address of class C is used for multicast communication

(D) There are five classes in IPv4 address

(E) Supernetting combine several networks into one large network

Choose the correct answer from the options given below :

() (A), (B) and (C) Only

() (A), (B), (D) and (E) Only

(3) (A), (O), (D) and (E) Only

(4) (©), (D) and (E) Only

Question Number : 115 Question Id : 5330723790 Question Type : MCQ Option Shuffling : No
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Host A (on TCP/IPv4 Networks) send an [P Datagram D to host B (also on TCP/IPv4 network).
Assume that no error occured during transmission of D, when D reaches B. Which of fDllDwi_ng
header field may differ from that of original datagram D ?

(A) TTL

(B) Checksum

(C) Fragment offset

(D) Source IP

(E) Destination IP

Choose the correct answer from the options given below :

(1) (A) and (B) Only

2) (A), (B) and (C) Only
(3) (A), (B), (C) and (D) Only
4) (A), (B), (C) and (E) Only

Question Number : 115 Question Id : 5330723790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Host A (on TCP/IPv4 Networks) send an IP Datagram D to host B (also on TCP/IPv4 network).
Assume that no error occured during transmission of D, when D reaches B. Which of following
header field may differ from that of original datagram D ?

(A) TTL

(B) Checksum

(C) Fragment offset

(D) Source IP

(E) Destination IP

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (B) and (C) Only
(3) (A), (B), (C) and (D) Only
(4) (A), (B), (C) and (E) Only

Question Number : 116 Question Id : 5330723791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following properties correctly describe a Regular Grammar ?

(A) All production rules are of the form A—xB or A—x, where A and B are non terminal symbols
and x is a terminal symbol.

(B) Regular grammars are more powerful than context-free grammars and can express any type
of language.

(C) There is a direct correspondence between regular grammar and finite automata.

(D) Regular grammars can generate languages that are not recognised by any type of automata.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

4) (A) and (C) Only

Question Number : 116 Question Id : 5330723791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following properties correctly describe a Regular Grammar ?
(A) All production rules are of the form A—xB or A—x, where A and B are non terminal symbols
and x is a terminal symbol.

(B) Regular grammars are more powerful than context-free grammars and can express any type
of language.

(C) There is a direct correspondence between regular grammar and finite automata.

(D) Regular grammars can generate languages that are not recognised by any type of automata.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (A) and (C) Only

Question Number : 117 Question Id : 5330723792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following tasks could be attained using syntax trees in compiler design ?
(A) Type Checking

(B) Code Generation

(C) Code Optimization

(D) Error Handling

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

() (B, (), (D) Only

(3) (A), (©), (D) Only

(4) (A), (B), (D) Only

Question Number : 117 Question Id : 5330723792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following tasks could be attained using syntax trees in compiler design ?
(A) Type Checking

(B) Code Generation

(C) Code Optimization

(D) Error Handling

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2) (®), (©). (D) Only

(3) (A), (©), (D) Only

(4) (A), (B), (D) Only

Question Number : 118 Question Id : 5330723793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the Sorting Algorithms that are stable.
(A) Quick Sort

(B) Bubble Sort

(C) Insertion Sort

(D) Merge Sort

(E) Shell Sort

Choose the correct answer from the options given below :
(1) (A), (B), (O) and (E) Only

(2)  (A), (D) and (E) Only

(3) (B) and (C) Only

(4) (B), (C) and (E) Only

Question Number : 118 Question Id : 5330723793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the Sorting Algorithms that are stable.
(A) Quick Sort

(B) Bubble Sort

(C) Insertion Sort

(D) Merge Sort

(E) Shell Sort

Choose the correct answer from the options given below :
(1) (A), (B), () and (E) Only

(2)  (A), (D) and (E) Only

(3) (B) and (C) Only

(4) (B), (C) and (E) Only

Question Number : 119 Question Id : 5330723794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are typical activities in the software process lifecycle ?
(A) Requirement Analysis

(B) System Design

(C) Code Refactoring

(D) Deployment

(E) Substructure

Choose the correct answer from the options given below :
(1) (A), (B) (© Only

(2 (8, (C), (D) Only

() (A), (B) (D) Only

(4) (A), (D), (E) Only

Question Number : 119 Question Id : 5330723794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are typical activities in the software process lifecycle ?
(A) Requirement Analysis

(B) System Design

(C) Code Refactoring

(D) Deployment

(E) Substructure

Choose the correct answer from the options given below :
(1) (A), (B) (© Only

(2 (8, (C), (D) Only

(3) (A), (B) (D) Only

(4) (A), (D), (E) Only

Question Number : 120 Question Id : 5330723795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are Agile Process Models ?
(A) Extreme Programming (XP)

(B) Waterfall

(C) Scrum

(D) Spiral

(E) Incremental

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (B) and (C) Only

(3) (A)and (D) Only

(4) (B) and (E) Only

Question Number : 120 Question Id : 5330723795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are Agile Process Models ?
(A) Extreme Programming (XP)

(B) Waterfall

(C) Scrum

(D) Spiral

(E) Incremental

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (B) and (C) Only

(3) (A)and (D) Only

(4) (B) and (E) Only

Question Number : 121 Question Id : 5330723796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about pointers in C are TRUE.
(A) Pointers can be used to access array elements

(B) Pointers can store the address of another pointer
(C) Pointers are automatically deferenced in expression
(D) Pointers cannot be used to access structure members
Choose the correct answer from the options given below :
(1) (A) and (C) Only

(2) (A)and (B) Only

(3) (B)and (C) Only

(4) (C) and (D) Only

Question Number : 121 Question Id : 5330723796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about pointers in C are TRUE.
(A) Pointers can be used to access array elements

(B) Pointers can store the address of another pointer
(C) Pointers are automatically deferenced in expression
(D) Pointers cannot be used to access structure members
Choose the correct answer from the options given below :
(I) (A) and (C) Only

(2) (A)and (B) Only

(3) (B)and (C) Only

(4) (C) and (D) Only

Question Number : 122 Question Id : 5330723797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are TRUE about constructors in C++ 7
(A) A constructor can be overloaded.

(B) A constructor does not have a return type.

(C) A constructor must be declared as a friend function.
(D) A constructor is called when an object is destroyed.
Choose the correct answer from the options given below :
(1) (8), (C), (D) Only

(@) (8), () Only

(3) (A), (B), (C) Only

(4) (A), (B) Only

Question Number : 122 Question Id : 5330723797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are TRUE about constructors in C++ ?
(A) A constructor can be overloaded.

(B) A constructor does not have a return type.

(C) A constructor must be declared as a friend function.
(D) A constructor is called when an object is destroyed.
Choose the correct answer from the options given below :
(1) (B), (O, (D) Only

() (8), () Only

(3) (A), (B), (C) Only

(4) (A), (B) Only

Question Number : 123 Question Id : 5330723798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding combinational and sequential circuits.
(A) Output of combinational circuits depends on the only current input.

(B) Output of combinational circuit depends on the both current input and previous output.
(C) Output of sequential circuit depends on the current input.

(D) Output of sequential circuit depends on both current input and previous output.
Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Question Number : 123 Question Id : 5330723798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following statements regarding combinational and sequential circuits.
(A) Output of combinational circuits depends on the only current input.

(B) Output of combinational circuit depends on the both current input and previous output.
(C) Output of sequential circuit depends on the current input.

(D) Output of sequential circuit depends on both current input and previous output.
Choose the correct answer from the options given below :

(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Question Number : 124 Question Id : 5330723799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fDIlUwi_ng relations on {1, 2, 3, 4}. Which of the fnllnwing relations are reflexive ?
(A) Ry={(L, 1), (L2, 21, 22 G4 41,49

B) Ry={(L 1), (L2, 2 1)

© Ry={(L 1), (L2), (L4, 21,22 G 3)41), 4 4)

(D) Ry={2 1), (. 1), (2 @& 1) (42, & 3)

(B) Rs={(L, 1), (1 2), (L3), (L4, 22),(23), 29, G3) G4, @)
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (A), (D) and (E) Only

(3) (D) and (E) Only

(4) (C) and (E) Only

Question Number : 124 Question Id : 5330723799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fDIlUwi_ng relations on {1, 2, 3, 4}. Which of the fnllnwing relations are reflexive ?
(A) Ry={(L, 1), (L 2), 2 1), (22 G 4 41), @49

B) Ry={(L 1), (L 2), 2 1)

© Re={(L 1), (L 2), (L4, 21 22, 603 @41, (44

(D) Ry={2 1), (. 1), (2 & 1) (42, & 3)

(E) Rs={(L 1), (L 2), (1 3), (1, 4), (2 2), (2 3), (2, 4), (3, 3), (3, 4), (4, 4)}
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (A), (D) and (E) Only

(3) (D) and (E) Only

(4) (C) and (E) Only

Question Number : 125 Question Id : 5330723800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following if p and q are two statements.
(A) ~(p/\g)=~pV~q

(B) ~(pvyg) =-~-pi—

(€ pA-p=T

(D) ~(p=q) =pi-q

(E) pvq=-pV~q

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (©) and (D) Only

(3) (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Question Number : 125 Question Id : 5330723800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following if p and q are two statements.

(A) ~(p/\g)=-~pV~q

(B) ~(pvyg) =-pi—

(C) pA-p=T

(D) ~(p=q) =pi-q

(E) pVg=-pV~q

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (C) and (D) Only

(3) (C), (D) and (E) Only

(4) (A), (B) and (C) Only

Question Number : 126 Question Id : 5330723801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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List - 1
(Queries)

(A) A bag contains 6 white and 4 red balls. Two balls are (I)
drawn at random. What is the chance, they will be the
same colour ?

(B) In a pack of 52 cards, one card is drawn at random, (I
what is the probability that it is either a king or a queen ?

(C) A bag contains 6 red, 4 white and 8 blue balls. If three balls are (I1I)
drawn at random, find the probability of 1 red and 2 white balls ?

(D) A bag contains 6 red, 4 white and 8 blue balls. If three balls are (IV)
drawn at random. Find the probability of 2 blue and 1 red balls ?

Choose the correct answer from the options given below :

(1) (A, (B)-(IV), (O(L), (D)-(I)

() (A)-(U), (B)-(1V), (C)-(1D), (D)-()

(3)  (A)IV), (B)(II), (O)(ID), (D)-(1)

(4)  (A)-IV), (B)(IL), (O-(L), (D)-(1)

Question Number : 126 Question Id : 5330723801 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List - 1
(Queries)

(A) A bag contains 6 white and 4 red balls. Two balls are (I)
drawn at random. What is the chance, they will be the
same colour ?

(B) In a pack of 52 cards, one card is drawn at random, (1)
what is the probability that it is either a king or a queen ?

(C) A bag contains 6 red, 4 white and 8 blue balls. If three balls are (LLT)
drawn at random, find the probability of 1 red and 2 white balls ?

(D) A bag contains 6 red, 4 white and 8 blue balls. If three balls are (IV)

drawn at random. Find the probability of 2 blue and 1 red balls ?

Choose the correct answer from the Dptions given below :

(1) (A)-Im), (B)-(1V), (O)-(1), (D)-(1)
(2)  (A)-(), (B)-(IV), (O-(1D), (D)-(I)
() (AHIV), (B)-(IL), (C)-(11), (D)-(I)
@)  (AHIV), (B)-(III), (O)-(1), (D)-(I)

Question Number : 127 Question Id : 5330723802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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List - 11
(Probability)
3/68

14/68

List - 11
(Probability)
3/68

14/68
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A graph G with number of vertices greater and equal than three i.e. (n=3) is a Hamiltonian graph,
if the degree of each vertex is greater and equal to . . . .
(1) Equal to number of vertices
) Double of number of vertices
(3) Half of number of vertices
)

Four imes of number of vertices

Question Number : 127 Question Id : 5330723802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A graph G with number of vertices greater and equal than three i.e. (n=3) is a Hamiltonian graph,
if the degree of each vertex is greater and equal to . . . .
(1) Equal to number of vertices
) Double of number of vertices
(3) Half of number of vertices
)

Four imes of number of vertices

Question Number : 128 Question Id : 5330723803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Recurrence Relations) (Complexity)
(A) T(n)=2T(n/2)+n (I) T(n)=06(n logn) {exact solution}
(B) T(m)=T(n/2)+1 (I)  O(n?)
(C) Tn)=2T(n/2)+1 (IIl) T(n)=06(n) {exact solution}
(D) T(n)=T(n-1)+1 (IV) O(n)

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(IV), (C)-(II), (D)-(II)
(2)  (A)(IV), (B)-(1T), (C)-(L), (D)~IM)
(3 (A)-(D), (B)-(ILL), (C)-(IV), (D)-(I)
(4) (A)-(II), (B)-(I), (O-(IV), (D)-(I)

Question Number : 128 Question Id : 5330723803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - I List - II
(Recurrence Relations) (Complexity)
(A) T(n)=2T(n/2)+n (I) T(n)=0(n logn) {exact solution}
(B) Tn)=T(n/2)+1 (I  O(n?)
(€ Tn)=2T(n/2)+1 (IIT) T(n)=06(n) {exact solution}
(D) Tn)=T(n-1)+1 (IV) O(n)

Choose the correct answer from the options given below :
(1 A1), (B-(IV), (C)-(IL), (D)-(I)
() (AIV), (B)-(1I), (C)-(T), (D)~(IM)
() (A)-(I), (B)-(ILL), (C)-(IV), (D)-(II)
(4)  (A)-(), (B)-(I), (CR-(IV), (D)-(I)

Question Number : 129 Question Id : 5330723804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(IP Address) (Class)
(A) 10.20.30.40 (I) ClassE
(B) 210.20.30.3 (II) Class B
(C) 180.30.100.10 (IIl) Class A
(D) 252.5.15.T1 (IV) Class C

Choose the correct answer from the options given below :
() (A)-(1D, (B)-(ID), (C)-(1), (D)-(1V)
(2) (A0, (B(IV), (C)-(IT), (D))
(3)  (A)-(I), (B)-(IL), (O)(IV), (D)~{IL)
(4)  (A)-(O), (B)-(IV), (C)~(11), (D)-(I)

Question Number : 129 Question Id : 5330723804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(IP Address) (Class)
(A) 10.20.30.40 (I) ClassE
(B) 210.20.30.3 (II) Class B
(C) 180.30.100.10 (IIl) Class A
(D) 252.5.15.T1 (IV) Class C

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(ID), (C)-1), (D)-(IV)
(2) (A0, (B(IV), (C)-(IT), (D))
(@) (A)-(I), (B)-(IL), (O)(IV), (D))
(4)  (A)-(O), (B)-(IV), (C)~(11), (D)-(I)
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Question Number : 130 Question Id : 5330723805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Counter) (uses/working)
(A) N-bit Ring Counter (I)  Uses universal clock
(B) Synchronous Counter (I) Counts exactly N states
(€) Asynchronous Counter (II) Counts 0 to 9
(D) Decimal Counter (IV) Main clock is applied to first flip-flop only

Choose the correct answer from the options given below :

(D (AHID, (B)-(IV), (C)-(I), (D))

2 (A)-(IV), (B)(1D), (O)-(ID), (D)-(@)
() (A)-(0), (B)-(I), (O)-(V), (D))
4)  (A)-(IV), (B)-(D), (C)-(I), (D)-(I1)

Question Number : 130 Question Id : 5330723805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 11
(Counter) (uses/working)
(A) N-bit Ring Counter (I)  Uses universal clock
(B) Synchronous Counter (I) Counts exactly N states
(€) Asynchronous Counter (II) Counts 0 to 9
(D) Decimal Counter (IV) Main clock is applied to first flip-flop only

Choose the correct answer from the options given below :

(D (AHAID, (B)-(IV), (O)-(1), (D))

2 (A)-(IV), (B)(1D), (O)-(ID), (D)-(@)
(3)  (A)-(), (B)-(1), (O-(V), (D)-(IL)
4)  (A)-(IV), (B)-(D), (C)-(I), (D)-(I1)
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Question Number : 131 Question Id : 5330723806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(computing systems) (working/output)
(A) Half Adder (I) Has n input and 2" output
(B) Decoder (I) CPU Storage Unit
(C) Register (IIT) Used to store program at runtime
(D) Main memory (IV) 2-bit addition circuit

Choose the correct answer from the options given below :

(D (AHID, (B)-(I), (©)-IV), (D)-(1)

2 (A)-(IV), (B)(1D), (O)-(), (D)-(@)
(3)  (A)-(IV), (B)-(1), (C)-(I), (D)~(I1)
4) (A1), (B)-(IV), (O)-(I1D), (D)-(I)

Question Number : 131 Question Id : 5330723806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(computing systems) (working/output)
(A) Half Adder (I) Has n input and 2" output
(B) Decoder (I) CPU Storage Unit
(C) Register (IIT) Used to store program at runtime
(D) Main memory (IV) 2-bit addition circuit

Choose the correct answer from the options given below :

(D (AHID, (B)-(I), (©)-IV), (D)-(1)

2 (A)-(IV), (B)(1D), (O)-(), (D)-(@)
(3)  (A)-(V), (B)-(1), (C)-(I), (D)-(I1)
4) (A1), (B)-(IV), (O)-(I1D), (D)-(I)

Question Number : 132 Question Id : 5330723807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - IL.

List - I List - II

(A) The activation function (I)  is called the delta rule.

(B) The learning method of perceptron (I)  is one of the key components of the perceptron
as in the most common neural network
architecture.

(C) Areas of application of artificial neural (IlI) is always boolean like a switch.

network include

(D) The output of the perceptron (IV) system identification and control.

Choose the correct answer from the options given below :

(1) (A, (B)-IV), (C)-(ILL), (D)-(1)

(@) (A)-(V), (B)(I), (C)-(1), (D)-()

(3) (A, (B)-(D), (O-IV), (D)1

(4)  (A)(I), (B)-(IV), (O-(1D), (D)-(1)

Question Number : 132 Question Id : 5330723807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IL

List - I List - II

(A) The activation function (I)  is called the delta rule.

(B) The learning method of perceptron (IT)  is one of the key components of the perceptron
as in the most common neural network
architecture.

(C) Areas of application of artificial neural (III) is always boolean like a switch.

network include

(D) The output of the perceptron (IV) system identification and control.

Choose the correct answer from the options given below :

(1) (A)(I), (B)-QV), (O)-(ID), (D)-(1)

(@) (AHIV), (B)(IL), (O)-(11), (D)-(1)

(3) (A1), (B)-(1), (O)-(IV), (D))
(4) (A, (BIV), (O-(11), (D)-()

Question Number : 133 Question Id : 5330723808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.
List - I List - II
(A) Natural language processing (I) A method of training algorithm by rewarding desired
behaviour and/or punishing undesired one.

(B) Reinforcement learning (II)  System designed to emulate the decision making
abilities of a human expert.

(C) Support vector machine (Ify A branch of AI focused on understanding and
generating human language.

(D) Expert system (IV) A machine learning technique that finds the hyper
plane that best separates different class in a feature
space.

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(ID), (O)-IV), (D)-(II)
(2)  (A)-(D), (B)-(ID), (©)-(1), (D)-(1V)
(3)  (A)-(II), (B)-(I), (OH(IV), (D)-(IT)
(4)  (A)-(ID, (B)-(IV), (O)-(ILI), (D)-(I)

Question Number : 133 Question Id : 5330723808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L
List- I List - II
(A) Natural language processing (I)  Amethod of training algorithm by rewarding desired
behaviour and/or punishing undesired one.

(B) Reinforcement learning (II) System designed to emulate the decision making
abilities of a human expert.

(C) Support vector machine (Im) A branch of Al focused on understanding and
generating human language.

(D) Expert system (IV) A machine learning technique that finds the hyper
plane that best separates different class in a feature
space.

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(ID), (O)-(IV), (D)-(I)
(2)  (A)-(LD), (B)-(11), (C)-(1), (D)-(IV)
(3)  (A)-(I), (B)-(I), (O(IV), (D)-(IT)
(4)  (A)-(ID, (B)-(IV), (O)-(ILL), (D)-(I)

Question Number : 134 Question Id : 5330723809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - I
(A) Representation of bits (Iy  Transport layer
(B) Physical Address (II) Physical layer
(C) Logical Address (Ilf) Network layer

(D) Segmentation and reassembly (IV) Data link layer
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

(2)  (A)-(1D), (B)-(IV), (C)-(I1I), {D) 0

(3) (A, (B)-(ID, (O)-(1V), (D)-(0)

(4)  (A)-(D), (B)-(IV), (C)-(L), {D) iy

Question Number : 134 Question Id : 5330723809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - IT
(A) Representation of bits (I)  Transport layer
(B) Physical Address (II)  Physical layer
(C) Logical Address (Ilf) Network layer

(D) Segmentation and reassembly (IV) Data link layer
Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (O)(I), (D)-(1V)

(2)  (A)-(1D), (B)-(IV), (C)-(I1I), {D) 0

(3) (A, (B)-(ID), (©O)-(IV), (D)-(I)

(4)  (A)-(D), (B)-(IV), (C)-(L), {D) iy

Question Number : 135 Question Id : 5330723810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - IT
(A) Dijkstra’s Algorithms (I)  Find the shortest path between all pairs of vertices
in a graph with positive or negative edge weights.
(B) Floyd-Warshall Algorithms (II) Finds the shortest path in a weighted graph with

non-negative Edge weights.

(C) Bellman-frod Algorithms (IIf) Sorts elements by repeatedly moving them post
neighboring elements that are smaller.

(D) Prim’s Algorithms (IV) Determines the strongest connected components in
a directed graph.

Choose the correct answer from the options given below :

(1) (A1), (B)-(D), (O(IL), (D)-(1V)

(2)  (A)-ID, (B)-(T), (O)-IV), (D)-(I)

(3)  (A)-(D), (B)-(II), (O)~(II), (D)-(IV)

(4)  (A)-(I), (B)-(IL), (O)-(IV), (D)-(I)

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 90/101



8/23/24, 9:45 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 135 Question Id : 5330723810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) Dijkstra’s Algorithms (I)  Find the shortest path between all pairs of vertices
in a graph with positive or negative edge weights.
(B) Floyd-Warshall Algorithms (II) Finds the shortest path in a weighted graph with

non-negative edge weights.

(C) Bellman-frod Algorithms (IIf) Sorts elements by repeatedly moving them post

neighboring elements that are smaller.

(D) Prim’s Algorithms (IV) Determines the strongest connected components in
a directed graph.

Choose the correct answer from the options given below :

(1) (A, (B)-(0), (O)-(I), (D)-(IV)

(2 (A1, (B)-(1), (O1V), (D)-(I)

(3)  (A)-(1), (B)-(II), (C)=(II), (D)-(IV)

(4)  (A)-(I), (B)-(ID), (O)-(IV), (D)-(I)

Question Number : 136 Question Id : 5330723811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(software design principles) (Definition)
(A) Cohesion (I) Degree to which one module relies on another
module.
(B) Coupling (II) Dividing a software system into distinct modules.
(C) Abstration (II) Degree to which elements of a module belong
together.
(D) Modularity (IV) Simplifying complex reality by modeling classes

appropriate to the problem.
Choose the correct answer from the options given below :
(1) (AHD), (BRI, (C)II), (D)-(IV)
@ (A1), B)-A1D, (C)-AV), (D))
(3)  (A)-(LD), (B)-(I), (CO)-(IV), (D)-(II)
(4)  (A)-(I), (B)-(IV), (O)~(II), (D)-(I)

Question Number : 136 Question Id : 5330723811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - I List - II
(software design principles) (Definition)
(A) Cohesion (I) Degree to which one module relies on another
module.
(B) Coupling (II) Dividing a software system into distinct modules.
(C) Abstration (II) Degree to which elements of a module belong
together.
(D) Modularity (IV) Simplifying complex reality by modeling classes

appropriate to the problem.
Choose the correct answer from the options given below :
(1) (A, (B, (OIL), (D)-(IV)
(@) (A, (B)-(IID, (C)-AV), (D)-()
(3)  (A)-(1), (B)-(I), (OH(IV), (D)-(IT)
(4) (A)-(LD), (B)-(IV), (C)-(1I), (D)-(I)

Question Number : 137 Question Id : 5330723812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Testing Type) (Description)
(A) Unit testing (I) Testing individual components of the software.
(B) Integrating testing (I) Testing the interaction between integrated components.
(C) System testing (L) Testing to verify the system meets business needs.
(D) Acceptance testing (IV) Testing the complete system to ensure it meets
requirements.

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(D), (O-(I), (D)-(IV)

2 (A1), B}, (O-IV), (D))
() (A)-(D), (B)-(I1D), (C)(I), (D)-(IV)
@) (A0, (B-(IV), (C)-(I), (D))

Question Number : 137 Question Id : 5330723812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - IL.
List - 1
(Testing Type)

(A) Unit testing

(B) Integrating testing

(C) System testing

(D) Acceptance testing

(D
(D)
(1)
(Iv)

g28.digialm.com/CAE/viewHtmIPDFAction.action

List - 11

(Description)

Testing individual components of the software.

Testing the interaction between integrated components.
Testing to verify the system meets business needs.

Testing the complete system to ensure it meets
requirements.

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(D), (O-(I), (D)-(IV)

(2 (AHD, (BR(ID), (O)-(1V), (D))
(3)  (AHD), (B}-(I1D), (C)-(I), (D)-(1V)
@) (A0, (B-IV), (C)-(I), (D))

Question Number : 138 Question Id : 5330723813 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.
List - I

(operating system concepts)

(A) Paging

(B) LRU (Least Recently Used)

(C) C-SCAN
(D) Virtual Memory

List - I

(characteristics)
(I)  Evicts least recently used process
(II) Extends physical memory
(Ill) Logical to physical mapping
(IV) Circular disk access

Choose the correct answer from the options given below :

(1) (A)-(m), (B)-(IV), (O)-(D), (D)-(I)

2 (A, (B)-(I), (O-(1V), (D)}-(ID)
() (A)-(D), (B)-(II), (CR(IV), (D
@) (A1), (B-1V), (C)-(II), (D)-(1)

)-
)-(1)
)-

Question Number : 138 Question Id : 5330723813 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.
List - I

(operating system concepts)

(A) Paging

(B) LRU (Least Recently Used)

(C) C-SCAN
(D) Virtual Memory

List - I
(characteristics)
(I)  Evicts least recently used process
(II) Extends physical memory
(Ill) Logical to physical mapping
(IV) Circular disk access

Choose the correct answer from the options given below :

(1) (A)-(m), (B)-(IV), (O)-(D), (D)-(I)

@ (A, (B)-(D), (O-(1V), (D)-(ID)
() (A)-(D), (B)-(II), (CR(IV), (D
@) (A1), (B-IV), (O)-(II), (D)-(1N)
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Question Number : 139 Question Id : 5330723814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) HTML (I) Allow for dynamic and interactive web pages.
(B) DHTML (II)  Defines the structure of web pages.
(C) XML (ITI) Object-oriented programming language for web applications.
(D) JAVA (IV) Used for data storage and transport.

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(ILL), (C)-(11), (D)-(1V)
(2)  (A)(II), (B)-(ID), (C)-IV), (D)-(0)
(3) (A1), (B)-(D), (O)-(1V), (D))
(4)  (A)-(O), (B)-(T), (C)}-(IV), (D)-(II)

Question Number : 139 Question Id : 5330723814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) HTML (I)  Allow for dynamic and interactive web pages.
(B) DHTML (II)  Defines the structure of web pages.
(C) XML (ITI) Object-oriented programming language for web applications.
(D) JAVA (IV) Used for data storage and transport.

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(ILL), (C)-(11), (D)-(1V)
(2)  (A)(II), (B)-(ID), (C)-IV), (D)-(0)
(3) (A1), (B)-(D), (O~(1V), (D)~IM)
(4)  (A)-(O), (B)-(T), (C)}-(IV), (D)-(II)

Question Number : 140 Question Id : 5330723815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II
(Algorithms) (Characteristics)
(A) First Come First Served (FCFS)  (I)  Each process is assigned a priority.
(B) Shortest Job First (SJF) (I)  Ensures fair allocation of CPU time by assigning time
slice.
(C) Round Robin (RR) (IIT) Processes are executed in the order they arrive.
(D) Priority Scheduling (IV) Select the process for execution with smallest next
Burst time.

Choose the correct answer from the options given below :
(1) (A1), (B)-(I1D), (C)-IV), (D)-0)
(2)  (A)-(1I), (B)-(IV), (C)-(1LL), (D)-()
(3)  (A)-(I), (B)-(IV), (O)-(II), (D)-(T)
(4)  (A)-(), (B)-(IV), (O)-(I), (D)-(II)

Question Number : 140 Question Id : 5330723815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Algorithms) (Characteristics)
(A) First Come First Served (FCFS)  (I)  Each process is assigned a priority.
(B) Shortest Job First (SJF) (II) Ensures fair allocation of CPU time by assigning time
slice.
(C) Round Robin (RR) (IIf) Processes are executed in the order they arrive.
(D) Priority Scheduling (IV) Select the process for execution with smallest next
Burst time.

Choose the correct answer from the Dptiuns given below :

(1) (A1), (B)-(11), (©)-IV), (D)-(1)

(2) (A1), (B)-(IV), (Q)-(I), (D)-(I)

(3)  (A)-(IO), (B)-(IV), (C)~(1I), (D)-(I)

(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(II)
Sub-Section Number : 2
Sub-Section Id : 533072153
Question Shuffling Allowed : No

Question Id : 5330723816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the below passage and answer the questions .

Artificial Neural Networks (ANNs) are computational models inspired by the human brain’s neural
networks. They consist of inter-connected nodes, or neurons, organized into layers : an input
la}rers, one or more hidden layers and an output layers. Each connection between neurons has a
weight that adjusts as learning progresses allowing the network to adopt and improve its
performance. ANNs are particularly effective in recognizing patterns making them valuable for
tasks such as image and Speech 1'Ec0g11ition, Natural language pmcessing and predictive a_nalyti-::s.
Leaﬂling in ANNs typical_ly mvolves I:rajnj_ng algorithm'; like back propagatinn, which minimize
the error by adjusting the weights. As a subset of machine learning, ANNs have revolutionized the
field of Artificial Intelligence by providing solutions to complex problems that traditional algorithms
struggle with.

Sub questions

Question Number : 141 Question Id : 5330723817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the role of Back Propagation Algorithm ?

(1) To reduce error

(2)
(3) To control speed of data
(4) To add different layers

To secure network

Question Number : 142 Question Id : 5330723818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Artificial Neural Networks (ANNSs) are inspired by :
(1) Quantum mechanics

(2) Human brain’s neural network

(3) Computer Hardware architecture

(4) Genetic algorithm

Question Number : 143 Question Id : 5330723819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following layers may be more than one in number ?
(1) Input layer

(2) Hidden layer

(3) Output layer

(4) Physical layer

Question Number : 144 Question Id : 5330723820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the role of weights in an ANN ?
(1) To store data

@)

(3) To control the speed
(4) To secure the network

To adjust and improve network performance

Question Number : 145 Question Id : 5330723821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are the application area(s) of ANN ?
(A) Natural Language Processing

(B) Image Processing

(C) Pattern Recognition

(D) Speech Recognition

Choose the correct answer from the options given below :
(1) (A) and (B) Only

() (B) and (C) Only

(3) (A), (B) and (C) Only

(4)  (A), (B), (©) and (D)

Question Id : 5330723816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the below passage and answer the questions .

Artificial Neural Networks (ANNs) are computational models inspired by the human brain’s neural
networks. They consist of inter-connected nodes, or neurons, organized into layers : an input
layers, one or more hidden layers and an output layers. Each connection between neurons has a
weight that adjusts as learning progresses allowing the network to adopt and improve its
performance. ANNs are particularly effective in recognizing patterns making them valuable for
tasks such as image and speech recognition, Natural language processing and predictive analytics.
Lea:n_ing in ANNs t_vpica]_ly mvolves I:rajnj_ng algorithm'; like back pmpagatinn, which minimize
the error by adjusting the weights. As a subset of machine learning, ANNs have revolutionized the
field of Artificial Intelligence by providing solutions to complex problems that traditional algorithms
struggle with.

Sub questions

Question Number : 141 Question Id : 5330723817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the role of Back Propagation Algorithm ?
(1) To reduce error

@)
(3) To control speed of data
(4) To add different layers

To secure network

Question Number : 142 Question Id : 5330723818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Artificial Neural Networks (ANNSs) are inspired by :

(1) Quantum mechanics

(2) Human brain’s neural network

(3) Computer Hardware architecture

(4) Genetic algorithm

Question Number : 143 Question Id : 5330723819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following layers may be more than one in number ?
(1) Input layer

(2) Hidden layer

(3) Output layer

(4) Physical layer

Question Number : 144 Question Id : 5330723820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the role of weights in an ANN ?
(1) To store data
(2) To adjust and improve network performance

)
(3) To control the speed
(4) To secure the network

Question Number : 145 Question Id : 5330723821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are the application area(s) of ANN ?
(A) Natural Language Processing

(B) Image Processing

(C) Pattern Recognition

(D) Speech Recognition

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (A), (B) and (C) Only

4 (A), (B), (©) and (D)
Sub-Section Number : 3
Sub-Section Id : 533072154
Question Shuffling Allowed : No

Question Id : 5330723822 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the below passage and answer the questions .

The Banker’s Algorithm is a critical deadlock avoidance method in operating systems, designed to
facilitate resource allocation without causing deadlock. It operates by maintaining information
about the maximum resources. Each process may require, the current allocated resources and the
available resources in the system. The algorithm checks each resource request to determine, if
granting it would leave the system in a safe state, meaning that there is always a sequence in
which all processes can complete their execution without getting stuck due to resource unavailability.
Each process must specify its maximum demand for each resource type before it starts execution.
When a process requests additional resources, the algorithm checks if granting the request will
keep the system in a safe state. If so, the resources are allocated otherwise the process must wait
until its request can be safely fulfilled.

Sub questions

Question Number : 146 Question Id : 5330723823 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

What information is used to determine if a resource request can be granted ?
(1) Available resources and current allocation of each process

(2) CPU utilization of each process

(3) Number of processes waiting for resources

(4)  Arrival ime of each process

Question Number : 147 Question Id : 5330723824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary goal of the Banker’s Algorithm 7
(1) To allocate resources optimally
(2) To prevent processes from requesting resources

(3) To detect and recover from deadlocks

(4) To maximise CPU utilization

Question Number : 148 Question Id : 5330723825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a requirement for Banker’s algorithm to grant a resource request ?
(1) The requested resources must be available.

(2) The system must be in a safe state after granting the request.

(3) The request must not exceed the maximum resources the process can request.

(4)

The process must be the Dnly one 1'Equesti11g resources.

Question Number : 149 Question Id : 5330723826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the significance of the Banker’s algorithm in terms of resource management ?
(1) It enures that all processes can finish their execution without deadlock.

)

(3) It accelerates the execution of critical sections in processes.

(4) It minimizes the number of context switches between processes.

It eliminates the need for processes to request resources.

Question Number : 150 Question Id : 5330723827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which data structure does the Banker’s Algorithm use to maintain the state of available, maximum
and allocated resources ?

) Priority Queue
(2) Hash table
(3) Wait-for-Graph
4)

Matrices and Vectors

Question Id : 5330723822 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Read the below passage and answer the questions .

The Banker’s Algorithm is a critical deadlock avoidance method in operating systems, designed to
facilitate resource allocabion without causing deadlock. It operates by maintaining information
about the maximum resources. Each process may requi_re, the current allocated resources and the
available resources in the system. The algorilhm checks each resource request to determine, if
granting it would leave the system in a safe state, meaning that there is always a sequence in
which all processes can complete their execution without getting stuck due to resource unavailability.
Each process must specify its maximum demand for each resource type before it starts execution.
When a process requests additional resources, the algorithm checks if granting the request will
keep the system in a safe state. If so, the resources are allocated otherwise the process must wait
until its request can be safely fulfilled.

Sub questions

Question Number : 146 Question Id : 5330723823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What information is used to determine if a resource request can be granted ?
(1) Available resources and current allocation of each process

(2) CPU utilization of each process

(3) Number of processes waiting for resources

(4) Arrival time of each process

Question Number : 147 Question Id : 5330723824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary goal of the Banker’s Algorithm ?
(1) To allocate resources optimally

(2) To prevent processes from requesting resources
(3) To detect and recover from deadlocks

(4) To maximise CPU utilization

Question Number : 148 Question Id : 5330723825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a requirement for Banker’s algorithm to grant a resource request ?

(1) The requested resources must be available.

()

(3) The request must not exceed the maximum resources the process can request.
)

(4

The system must be in a safe state after granking the request.
The process must be the only one requesting resources.

Question Number : 149 Question Id : 5330723826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the significance of the Banker’s algorithm in terms of resource management ?
(1) It enures that all processes can finish their execution without deadlock.

@)

(3) It accelerates the execution of critical sections in processes.

(4) It minimizes the number of context switches between processes.

It eliminates the need for processes to request resources.

Question Number : 150 Question Id : 5330723827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which data structure does the Banker’s Algorithm use to maintain the state of available, maximum
and allocated resources ?

(1) Priority Queue

(2) Hash table

(3) Wait-for-Graph

(4) Matrices and Vectors
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